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3.2 00000000 (Molecular dynamical Mathod)
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(3.2.9)
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00000000 142A000000000000000 C,000d,0000

00000000 [nm] 000000 [deg.]00000000D0O0O0OOOOODOO
0 ./diameter-chiralf 0000 O

C, dp[nm] | f[deg.] C, dj[nm] | f[deg.] C, dy[nm] | §[deg.]
(1,0) 0.078 0.00 (8,0)| 0.626 0.00 || (11,1) | 0.903 4.31
(1,1) 0.136 | 30.00 (7,2) 0.641 | 12.22 || ( 10, 3) 0.923 | 12.73
(2,0) 0.157 0.00 (8,1)| 0.669 5.82 || (12,0) | 0.939 0.00
(2,1) 0.207 | 19.11 (5,5)| 0.678] 30.00 (7,7)| 0.949 | 30.00
(3,0)| 0235 000 (6,4)| 0.683| 23411 (11,2)| 0.949| 8.21
(2,2) 0.271 | 30.00 (7,3)| 0.696| 17.00 8,6)| 0.952| 2529
(3,1)| 0.282] 1390 (9,0 | 0705| 000/ (9,5 | 0962] 20.63
(4,0) 0.313 0.00 (8,2)| 0718| 10.89 1| (10,4)| 0.978| 16.10
(3,2) | 0.341] 2341 || (6,5 | 0747 | 27.00 || (12,1)| 0.981| 3.96
(4,1)] 0359 1089 (9, 1)| 0747| 521 (11,3)| 1.000| 11.74
(5,0)| 0.391] 000 (7,4)| 0755| 2105 (8,7 | 1.018] 27.80
(3,3)| 0.407| 3000 (83| 0771 | 1530 (13,0)| 1.018| 0.00
(4,2)| 0414 ] 1901/ (10,0)] 0783 | 0.00] (9,6)| 1.024| 2341
(5, 1) | 0436 895 (9,2)| 0795| 983 (12,2)| 1.027| 7.5
(6,0)| 0.470| 0.00]| (6,6)| 0814 3000/ (10,5 | 1.036| 19.11
(4,3)| 0476 | 2529 || (7.5)| 0.817| 2450 || (11,4) | 1.053 | 14.92
(5,2) | 0489 1610 || (10,1)| 0825 472 (13,1)] 1.059| 3.67
(6,1)| 0513 759 (8,4)| 0829 1911 (12,3)| 1.076| 10.89
(4,4) 0.542 | 30.00 (9,3)| 0847 13.90 (8,38) 1.085 | 30.00
(5,3) 0.548 | 21.79 || ( 11,0) | 0.861 0.00 (9,7) 1.088 | 25.87
(7,0) 0.548 0.00 || ( 10,2) | 0.872 8.95 || ( 10, 6) 1.096 | 21.79
(6,2) 0.565 | 13.90 (7,6)| 0882 2746 || (14,0) 1.096 0.00
(7,1 | 0591 659 (85| 0889 2241 (13,2)| 1104| 7.0
(5,4) | 0611 2633 || (9,4)| 0903| 1748 (11,5)| 1.110| 17.78
(6,3) 0.621 | 19.11 || ( 11, 1) 0.903 4.31 ]| (12, 4) 1.129 | 13.90
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C, dj[nm] | §[deg.] C, dj[nm] | §[deg.] C, dj[nm] | f[deg.]
(14, 1) | L137| 342 (12,9)] 1429 2529 || (18,6) | 1.694| 13.90

(9,8) 1.153 | 28.05 (16,4) 1.435 | 10.89 || ( 13, 12) 1.695 | 28.68
(13,3)| 1153 | 1016 || (13,8)| 1.437| 2217 (20.3)| 1.695| 6.89
(10,7) 1.159 | 24.18 (14,7) 1.450 | 19.11 || ( 14, 11) 1.699 | 26.04
(11,6) 1.169 | 20.36 (18,1) 1.450 2.68 || (15, 10) 1.706 | 23.41
(15,0) 1.174 0.00 (17,3) 1.463 7.99 (16,9) 1.717 | 20.82
(14,2)| 1182| 659 (15,6)| 1.467| 1610 (19,5)| 1.717| 11.39
(12, 5) 1.185 | 16.63 (16, 5) 1.487 | 13.17 (17,8) 1.731 | 18.26
(13,4) 1.205 | 13.00 (19,0) 1.487 0.00 (20,4) 1.744 8.95
(15,1)| 1215 | 320 (11,11) | 1.492| 30.00 || (18, 7)| 1.749| 15.75

(9,9) | 1.220| 30.00 || (12,10) | 1.494 | 27.00 || (13,13)| 1.763 | 30.00
(10,8) | 1.223| 2633 | (18,2)| 1.494| 521 (14,12)| 1.765| 27.46
(11,7) 1.230 | 22.69 (13,9) 1.500 | 24.01 || ( 15, 11) 1.770 | 24.92
(14,3)| 1230 | 952 (14,8)| 1510| 21.05| (19,6)| 1.770 | 13.29
(12,6) | 1.243] 1901 || (17.4)| 1512 1033 | (16,10)| 1.778| 22.41
(16,0) | 1.253| 000 (15,7)| 1.524| 1814 | (17.9)| L1790 | 19.93
(13,5) 1.260 | 15.61 (19,1) 1.528 2.54 (120, 5) 1.794 | 10.89
(15,2) | 1.260| 6.8 (18,3)| 1.540| 7.59| (18.8)| 1L806| 1748
(14,4) | 1282] 1222 (16.6)| 1542| 1530 (19,7)| 1.824]| 15.08
(10,9) 1.289 | 28.26 || ( 12, 11) 1.560 | 28.56 || ( 14, 13) 1.831 | 28.78
(11, 8) 1.294 | 24.79 || ( 13, 10) 1.564 | 25.69 || ( 15, 12) 1.834 | 26.33
(16,1) 1.294 3.00 (17,5) 1.564 | 1252 || ( 16, 11) 1.841 | 23.90
(12,7) 1.303 | 21.36 (120,0) 1.566 0.00 (20,6) 1.846 | 12.73
(15,3) | 1.308| 895 (14,9)| 1.572| 22.85 | (17,10) | 1.851| 21.49
(13,6) | 1.317| 17.99 | (19,2)| 1.572| 495 (18,9)| 1.864| 19.11
(17,0) 1.331 0.00 (15, 8) 1.583 | 20.03 (19, 8) 1.881 | 16.76
(14,5) | 1.336| 1470 || (18,4)| 1.589 | 9.83 | (14, 14)| 1.898| 30.00
(16, 2) 1.338 5.82 (16,7) 1.599 | 17.27 || ( 15, 13) 1.900 | 27.64
(10,10) | 1.356 | 30.00 || (20,1)| 1.606 | =242 (20,7)| 1.900| 14.46
(11,9) 1.358 | 26.70 (17,6) 1.618 | 14.56 || ( 16, 12) 1.905 | 25.29
(15,4) | 1358 | 1152 (19,3)] 1618| 722 (17, 11) | 1.913| 22.95
(12, 8) 1.365 | 2341 || (12, 12) 1.627 | 30.00 || ( 18, 10) 1.924 | 20.63
(17,1) | 1372 283 (13,11) | 1620 27.25|| (19,9)| 1.938| 18.35
(13,7) | 1.376 | 2017 || (14,10) | 1.635 | 24.50 | (20,8)| 1.956| 16.10
(16, 3) 1.385 8.44 (18, 5) 1.640 | 11.93 || ( 15, 14) 1.967 | 28.86
(14,6) | 1392 | 17.00 || (15,9)| 1.644| 2179 || (16,13) | 1.970 | 26.58
(18,0) | 1.409| 000 (20,2)| 1.650 | 472 (17,12)| 1.976 | 24.32
(15,5) 1.411 | 13.90 (16, 8) 1.657 | 19.11 || ( 18, 11) 1.985 | 22.07
(17,2) | 1416| 550 | (19,4)| 1.666 | 9.37| (19,10)| 1.998| 19.84
(11,10) | 1424 | 2843 | (17,7)| 1.674| 1647
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A2 [0O00DOODOOODOODOODOOODOODOOODODOOODOO

0 1.1 (6,4)(17,0)* 0 1.2 (6,4)(14,5)

0 1.3 (6,4)(16,2) 0 1.4 (6,4)(10,10)

0 1.5 (6,4)(11,9) 0 1.6 (6,4)(15,4)
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0 1.7 (6,4)(12,8) 0 1.8 (6,4)(17,1)
0 1.9 (6,4)(13,7) 0 1.10 (6,4)(16,3)
0 111 (6,4)(14,6) 0 1.12 (6,4)(18,0)*

0 1.13 (6,4)(15,5) 0 1.14 (6,4)(17,2)



OO0 A 00000

0 1.15 (6,4)(11,10)*

0 1.17 (6,4)(16.4)

0 1.18 (6,—4)(17,0)*

0 1.20 (6,—4)(16,2)

0 1.16 (6,4)(12.,9)

0 1.19 (6,—4)(14,5)

0 1.21 (6,—4)(10,10)
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0 1.22 (6,—4)(11,9)

0 1.24 (6,—4)(12,3)

0 1.26 (6,—4)(13,7)

0 1.28 (6,—4)(14,6)

0 1.23 (6,—4)(15,4)

0 1.25 (6,—4)(17,1)

0 1.27 (6,—4)(16,3)

0 1.29 (6,—4)(18,0)
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0 1.30 (6,—4)(15,5)

0 1.32 (6,—4)(11,10)

0 1.34 (6,—4)(16,4)

0 1.35 (5,5)(17.,0)

0 1.37 (5,5)(16.2)

0 1.31 (6,—4)(17,2)

0 1.33 (6,—4)(12,9)

0 1.36 (5,5)(14.5)

0 1.38 (5,5)(10,10)
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0 1.39 (5,5)(11,9)

0 1.41 (5,5)(12.,8)

0 143 (5,5)(13.7)

0 1.45 (5,5)(14.6)

0 147 (5,5)(15,5)

0 1.49 (5,5)(11,10)

0 1.51 (5,5)(16.4)

0 1.40 (5,5)(15,4)

0 1.42 (5,5)(17,1)

0 144 (5,5)(16,3)

0 1.46 (5,5)(18,0)*

0 1.48 (5,5)(17.2)

0 1.50 (5,5)(12,9)
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0 1.52

0 1.54

0 1.56

O 1.58

O 1.60

0 1.62

0 1.64

(9,0)(17,0)

(9,0)(16,2)

(9,0)(11,9)

(9,0)(12,8)

(9,0)(13,7)

(9,0)(14,6)

(9,0)(15.,5)

0 1.53 (9,0)(14,5)

0 1.55 (9,0)(10,10)

0 1.57 (9,0)(15.4)

0 1.59 (9,0)(17,1)

0 1.61 (9,0)(16,3)

0 1.63 (9,0)(18,0)

0 1.65 (9,0)(17.2)
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0 1.66 (9,0)(11,10) 0 167 (9,0)(12,9)

0 1.68 (9,0)(16.4)

0 1.69 (8,2)(17,0) 0 1.70 (8,2)(14,5)
0 1.71 (8,2)(16,2) 0 1.72 (8,2)(10,10)
0 1.73 (8,2)(11,9) 0 1.74 (8,2)(15.4)

0 1.75 (8,2)(12,8) 0 1.76 (8,2)(17,1)
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0 177 (8,2)(13.7)

0 1.79 (8,2)(14.6)

0 1.81 (8,2)(15,5)

0 1.83 (8,2)(11,10)

0 1.85 (8,2)(16,4)

0 1.86 (8,—2)(17.0)

0 1.78 (8,2)(16,3)

0 1.80 (8,2)(18,0)

0 1.82 (8,2)(17,2)

0 1.84 (8,2)(12,9)

0 1.87 (8,—2)(14,5)

o4



OO0 A 00000

0 1.88

0 1.90

0 1.92

0 1.94

0 1.96

0 1.98

(8,—2)(16,2)

(8,—2)(11,9)

(8,—2)(12,8)

(8,—2)(13,7)

(8,—2)(14,6)

(8,—2)(15,5)

0 1.89 (8,—2)(10,10)

0 1.91 (8,—2)(15,4)

0 1.93 (8,—2)(17,1)

0 1.95 (8,-2)(16.3)

0 1.97 (8,—2)(18.0)

0 1.99 (8,—2)(17,2)

)
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0 1.100 (8,—2)(11,10)

0 1.102 (8,—2)(16,4)

0 1.101 (8,—2)(12,9)
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B.1 oboooooood

gooooooouoouooooooboboooououooooooboan
goooboboooooouooooooooouoououoobobooobon
0000000000000 0000000000000000000 Tersoff poten-
tial Lennard Jones potential 000 0000000000000 O0OOO OOOO
goboogouoooooon

goboooooooo

K=20
DO 41 I =1, 2000

0200000000
goooobobobboob oo boboboooooobobobbbbboo
goddooooooooobbbbbbbbbboboboooooo

DO 38 J = 1 , MAX_ATOM3
DIFF2(0,J) = 0
DD(J) = 0.0DO
38 CONTINUE

CALL CALC_DIFF2(N,ZAHYO,LIST,LIST2,KYORI,CUTOFF,DIFF2,DIFF2_DATA)
CALL CALC_DIFF2_VDW
# (N,ZAHYO,LIST_VDW,KYORI,CUTOFF ,DIFF2,DIFF2_DATA)

CALL CONJGRAD(N,ZAHYO,DIFF1,DIFF2,DIFF2_DATA)
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DO 39 J =1 , N*3

VELO(J) = VELO(J) + DIFF1(J) * CONV_VELO
ZAHYO(J) = ZAHYO(J) + VELO(J)
VELO(J) = VELO(J) * 0.9DO

39 CONTINUE

goooooooo
0000000 tubexyzOOODOOO

mdb tube.xyz >! kekka.xyz

4

c Tersoff potential for Carbon system
4 (1998/Jun/8) By R.Hatsuo .

4

25

PROGRAH HD
INCLUDE °’PARAHETER’

00000 FILEODDOO
CHARACTER*50 FILENAHE
CHARACTER*50 FILENAHE2

oooooooo
INTEGER N

loop OOO
INTEGER I,J,K

ooooao
REAL*8 ZAHYO(HAX_ATOH3)
CHARACTER*8 AN(HAX_ATOHN)

ooooooo
INTEGER LIST(O:HAX_LIST_N2,HAX_ATOHN)

0020000000
INTEGER LIST2(O0:HAX_LIST2_N,HAX_ATOHN)

ooooooo
INTEGER LIST_VDW(O:HAX_LIST_VN2,HAX_ATOH)

0000000 IXx00000o0o0oooo
REAL*8 KYORI(HAX_DATA_IDX)

REAL*8 CUTOFF(HAX_DATA_IDX)

REAL*8 DIFF1(HAX_ATOH3)

REAL*8 VELO(HAX_ATOH3)
REAL*8 DD(MAX_ATOH3)

INTEGER DIFF2(O0:HAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DIFF2_DATA(MAX_DIFF2_LIST,HAX_ATOH3)

TERSOFF 0000
REAL*8 TERSOFF

ooooooo
REAL*8 ENERGY , ENERGY_VDW

INTEGER IDX

FILEOOOODOO
CALL GETFILENAHE(FILENAHE)

open{unit=20,file=’md.log’ ,ACCESS="APPEND’)
write(20,25) FILENAHE

format (a50)

Yz0ooooooo

38
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CALL READ_ZAHYO(FILENAHE, N, ZAHYO,AN)

DO 29 J =1 , HAX_ATOH3
VELO(J) = 0.0D0
29 CONTINUE

IDX =0
CALL HAKE_LIST(N,ZAHYO,LIST,KYORI,CUTOFF,IDX)
CALL HAKE_LIST2(N,LIST,LIST2)

CALL HAKE_LIST_VDW(N,ZAHYO,LIST_VDW,KYORI,CUTOFF,IDX,LIST,
#LIST2, AN)

ENERGY = TERSOFF(N,ZAHYO,LIST,KYORI,CUTOFF)
ENERGY_VDW = VDW(N,ZAHYO,LIST_VDW,KYORI,CUTOFF)
ENERGY = ENERGY + ENERGY_VDW

C CALL PRINT_ZAHYO(N,ZAHYO,I,ENERGY,DIFF1,4N)
C WRITE(#,%) ENERGY
C STOP

K=0

write(*,*) ’make_list’
CALL HAKE_LIST(N,ZAHYO,LIST,KYORI,CUTOFF,IDX)

write(*,*) ’make_list2’
C 100000000
CALL HAKE_LIST2(N,LIST,LIST2)

write(*,%) IDX

write(*,*) ’make_list_vdw’

CALL HAKE_LIST_VYDW(N,ZAHYO,LIST_VYDW,KYORI,CUTOFF,IDX,LIST,
#LIST2, AN)

write(*,%) IDX
write(x,%) ’make_newkyori’
CALL HAKE_NEWKYORI(N,ZAHYO,LIST,KYORI,CUTOFF)

write(x,%) ’make_newkyoriv’
CALL HAKE_NEWKYORIV(N,ZAHYO,LIST_VDW,KYORI,CUTOFF)

write(*,*) ’calc_diff’
CALL CALC_DIFF1(N,ZAHYO,LIST,KYORI,CUTOFF,DIFF1)

write(*,¥) ’calc_diff_vdw’
CALL CALC_DIFF1_VDW(N,ZAHYO,LIST_VDW,KYORI,CUTOFF,DIFF1)

DO 38 J = 1 , HAX_ATOH3
DIFF2(0,J]) = 0
DD(J) = 0.0DO
38 CONTINUE

aacaa

aQ

CALL CALC_DIFF2(N,ZAHYO,LIST,LIST2,KYORI,CUTOFF,DIFF2,DIFF2_DATA)
C CALL CALC_DIFF2_VDW
C # (N,ZAHYO,LIST_VDW,KYORI,CUTOFF,DIFF2,DIFF2_DATA)

C CALL CONJGRAD(N,ZAHYO,DIFF1,DIFF2,DIFF2_DATA)

DO 39 J =1 , Nx3
VELO(J) = VELO(J) + DIFF1(J) * CONV_VELO
ZAHYO(J) = ZAHYO(J) + VELO(J)
VELO(J) = VELO(J) % 0.9D0

39 CONTINUE

ENERGY = TERSOFF(N,ZAHYO,LIST,KYORI,CUTOFF)
ENERGY_VDW = VDW(N,ZAHYO,LIST_VDW,KYORI,CUTOFF)
ENERGY = ENERGY + ENERGY_VDW

WRITE(20,40) I , ENERGY

40 format (i6,£20.7)

K=K+ 1
IF (K .EQ. 10) THEN
CALL PRINT_ZAHYO(N,ZAHYO,I,ENERGY,DIFF1,4N)
K=0
ENDIF
IF ( I .EQ. 10 ) THEN

aacacaaaa
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C CALL PRINT_ZAHYO(N,ZAHYO,I,ENERGY,DIFF1,AN)
C ENDIF

41

CONTINUE
CALL PRINT_ZAHYO(N,ZAHYO,I,ENERGY,DIFF1,4N)

close(20)

STOP
END

¢ This program is for md to run on Dec Fortran

o

45

6000000000000 000a0

cC
101

110

121

122

123

function IARGC()
IARGC=1

return

end

subroutine GETARG(i,c)
character*80 ¢
open(unit=53,file=’jobname.dat’,status=’0ld’)
read(53,45) ¢

format (a30)

close(53)

return

end

subroutine FDATE(IDATE)
CHARACTER IDATEx24

call DATE(IDATE)

return

end

000000 FILE OODOOODO OoOO0O0o0O0

SUBROUTINE GETFILENAME (FILENAME)

CHARACTER*50 FILENAHE

INTEGER I

I = IARGC()

IF (I .NE. 1) then
WRITE(x,*) ’Usage: opt hoge.xyz’
GOTO 110

ENDIF

CALL GETARG(1,FILENAHE)

RETURN
STOP
END

SUBROUTINE GETARGU(LINE,I,ARGU)
CHARACTER*80 LINE

CHARACTER*80 DUH

CHARACTER*80 ARGU

INTEGER I

INTEGER J

INTEGER K

INTEGER lenline

DUH = LINE

do 128 K =1 , I
lenline = len(DUH)
DO 122 J = 1 , lenline

IF ( DUN(J:J) .EQ. > ’) THEN
GOTO 122

ENDIF

IF ( DUH(J:J) .EQ. char(9) ) THEN
GOTO 122

ENDIF

IF ( DUH(J:J) .EQ. char(0) ) THEN
GOTO 122

ENDIF

GOTO 123

CONTINUE

DUH = DUH(J:lenline)

lenline = len(DUH)
DO 124 J = 2 , lenline
IF ( DUH(J:J) .EQ. ’ ’) THEN
GOTO 125
ENDIF
IF ( DUH(J:J) .EQ. char(9) ) THEN
GOTO 125
ENDIF
IF ( DUH(J:J) .EQ. char(0) ) THEN
GOTO 125

60
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ENDIF
124 CONTINUE
125 ARGU = DUH(1:J-1)

DUH=DUH (J:1lenline)

128 continue

RETURN

129 STOP
END

130 REAL*8 FUNCTION ATOR(STR)

CHARACTER*80 STR

INTEGER I

INTEGER J

INTEGER S

INTEGER D

INTEGER DCU

INTEGER*4 R

INTEGER*4 E

I=1
S =1
R=0
EC =0
E=0

IF ( STR(1:1) .EQ. ’+’) THEN

S =1
I=1+1
ENDIF
IF ( STR(1:1) .EQ. ’-’) THEN
S =-1
I=1+1
ENDIF

DO 140 J =1 , 80
IF ( STR(J:J) .EQ. ’>.” ) THEN
EC = 1
GOTO 140
ENDIF

D = ICHAR(STR(J:J)) - ICHAR(’0’)

IF ( (D .GT. 9) .OR. (D .LT. 0)) THEN
GOTO 145

ENDIF

R=R x 10 + D

E =E + EC

IF ( R .GT. 9999999 ) THEN
GOTO 145
ENDIF
140 CONTINUE

145 ATOR = 1.0DO * S * R / (10.0DO**E)

RETURN
149 STOP
END
cC
C 000000000 Dooooo
cC

201 SUBROUTINE READ_ZAHYO(FILENAHE, N, ZAHYO,AN)
INCLUDE °’PARAHETER’
CHARACTER*50 FILENAHE

C oooooooooa
INTEGER N
INTEGER N3

C FILE I0 O0OO00ODOOO

INTEGER IOCHECK

C loop variable
INTEGER I
c oooooooooo

REAL*8 ZAHYO(HAX_ATOH3)

C oooooo
CHARACTER*8 AN(HAX_ATOH)
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C

aaaa

208
209

210

299

301

305
311

398
399

C

401

CHARACTER*80 LINE,ARGU

FILE OEPN
OPEN (60 ,FILE=FILENAHE,STATUS="0LD’,I0STAT=IOCHECK)

#

FIL

IF

END

oo
REA

IF

END

N3

REA

for
for

oo
Do

con

CLO
RET

CLO:
STO
END

E OPEN 00O0O0O00ODOO
( IOCHECK ) THEN

WRITE(*,%) ’File open error.’

GOTO 299

IF

oooooooo

D(60,%) N

( MAX_ATOH .LT. N ) THEN

WRITE(*,%) "Too many atoms.'

GOTO 299
IF

=N %3
D(60,209) LINE

mat (£14.8)
mat (a80)

0000 oooao

210 I =1, N3, 3
READ(60,209) LINE

CALL GETARGU(LINE,1,ARGU)
AN(I/3+1)=ARGU

CALL GETARGU(LINE,2,ARGU)
ZAHYO(I) = ATOR(ARGU)
CALL GETARGU(LINE,3,ARGU)
ZAHYO(I+1) = ATOR(ARGU)
CALL GETARGU(LINE,4,ARGU)
ZAHYO(I+2) = ATOR(ARGU)

READ(60,%) AN(I/3+1) , ZAHYO(I)

TINUE

SE(60,STATUS=KEEP’)
URN

SE(60,STATUS="KEEP’)
P

,ZAHYO(I+1) ,ZAHYO(I+2)

SUBROUTINE PRINT_ZAHYO(N,ZAHYO,T,ENERGY,DIFF1,4N)

INC
INT
INT
REA
CHA
REA
REA
INT

WRI
WRI

N3

DO

LUDE °’PARAHETER’

EGER N,N3

EGER T

L*8 ZAHYO(HMAX_ATOH3)
RACTER*8 AN(HAX_ATOM)
L%8 DIFF1(MAX_ATOH3)
L*8 ENERGY

EGER I

TE(x,%) N

TE(%,%) °TINE=’,T#TINE_DIV#1.0D15,”

=N =*3

311 I =1, N3, 3
WRITE(*,305) AN(I/3+1) ,

ZAHYO(I)

fs

ENERGY =’ ,ENERGY

ZAHYO(I+1) , ZAHYO(I+2)

, DIFF1(I) %10.0 , DIFF1(I+1) * 10.0 ,

DIFF1(I+2) * 10.0

FORHAT(a5,£12.7,£12.7,£12.7,£12.7,£12.7,£12.7)
CONTINUE

RETURN
STOP

END

000000 LIST 00000000000

LIST(O,N)
LIST(I,N)
LIST(I+HAX_LIST_N ,N)

DOo0oO0oN 0000

ooo

ODO000ON 0O I 00D0O0O0ODOOOOOD
0o00oow 0 1 000000000

SUBROUTINE HAKE_LIST(N,ZAHYO,LIST,KYORI,CUTOFF,IDX)
INCLUDE °’PARAHETER’
INTEGER N,N3

REAL*8 ZAHYO(HAX_ATOH3)

INTEGER

REAL*8 KYORI(HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)
INTEGER IDX

LIST(O:HAX_LIST_N2,HAX_ATOHN)
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405

406

410

415

REAL*8 HAX_X,HAX_ Y HAX_ Z
REAL*8 HIN_X,HIN_Y,HIN_Z

INTEGER

I.K
INTEGER E,F,G
L,H

INTEGER

INTEGER I3

INTEGER HESH_X,HESH_Y,HESH_Z
INTEGER TX,TY,TZ
INTEGER TI,TJ,TI3,TJ3

INTEGER HESH(O:HAX_HESH_ATOH,
0:MAX_HESH_X+1,0:HAX_MESH_Y+1,0:HAX_MESH_Z+1)

REAL*8 THP_R,THP_CUTOFF

REAL#*8 SIN

N3 =N %3

ooooooooao

DO 405 I =
LIST(0,I
CONTINUE

1
)

HAX_ATOH
0

HESH 000000

DO 406 I =

[

HAX_HESH_X+1

DO 406 J = 0 , HAX_HESH_Y+1
DO 406 K
HESH(0,I,J,K) =0

CONTINUE

= 0 , HAX_HESH_Z+1

00000000 -00000000
HAX_X = ZAHYO(1)

HAX_Y = ZAHYO(2)
HAX_Z = ZAHYO(3)
HIN_X = ZAHYO(1)
HIN_Y = ZAHYO(2)
HIN_Z = ZAHYO(3)
DO 410 I = 4 N3 , 3

IF ( HAX_X .LT. ZAHYO(I) ) THEN

HAX_X
ENDIF

ZAHYO(I)

IF ( HAX_Y .LT. ZAHYO(I+1) ) THEN

HAX_Y
ENDIF

ZAHYO(I+1)

IF ( HAX_Z .LT. ZAHYO(I+2) ) THEN

HAX_Z
ENDIF

ZAHYO(I+2)

IF ( MIN_X .GT. ZAHYO(I) ) THEN

HIN_X
ENDIF

ZAHYO(I)

IF ( MIN_Y .GT. ZAHYO(I+1) ) THEN

HIN_Y
ENDIF

ZAHYO(I+1)

IF ( HIN_Z .GT. ZAHYO(I+2) ) THEN

HIN_Z
ENDIF
CONTINUE

ZAHYO(I+2)

00O00O0o0o0O0O0O0D0OOO0O0O0OO0O0O0
0000O00o0O0000OOO0O0O0O00OO0O0O0

(
(
(

( MAX_X - HIN_X ) / HESH_D )
( MAX_Y - HIN_Y ) / HESH_D )
( MAX_Z - HIN_Z ) / MESH_D )

gooooooo stop
.LE. HAX_MESH_X ) THEN

.LE. HAX_MESH_Y ) THEN

.LE. HAX_MESH_Z ) THEN

’HESH is overflow: HAX_HESH.’, HESH_X,HESH_Y,HESH_Z

HESH 0 000000000

HESH_X = 1 +
HESH_Y = 1 +
HESH_Z = 1 +
HESH 0000
IF ( HESH_X
GOTO 415
ENDIF
IF ( HESH_Y
GOTO 415
ENDIF
IF ( HESH_Z
GOTO 415
ENDIF
WRITE(x, %)
STOP
pooooo
DO 420 I = 1
I3 =1 %
T =1 +

3
(

n
-2
( ZAHYO(I3) - HIN_X ) / MESH_D )

63



OO0 BOO ODODOODOOO

TY = 1 + ( ( ZAHYO(I3+1) - HMIN_Y ) / HESH_D
TZ = 1 + ( ( ZAHYO(I3+2) - HIN_Z ) / HESH_D )
C HESH 000000000 sTOP

IF ( HESH(O,TX,TY,TZ) .EQ. HAX_MESH_ATOM ) THEN
WRITE(*,%) *HESH_ATOHN is overflow: HAX_HESH_ATOH.’
STOP

ENDIF

HESH(O,TX,TY,TZ) = HESH(O,TX,TY,TZ) + 1
HESH( HESH(O,TX,TY,TZ) , TX,TY,TZ) =1

420 CONTINUE

aQ

C HESH 000000 D00 (7 000D0O)
0 000000 OO0OLIsT 00oooo
C 0000 DOOoOoOoooOOoOoooooa

DO 443 I = 1 , HESH_X
DO 442 J = 1 , HESH_Y
DO 441 K = 1 , HESH_Z

IF ( HESH(0,I,J,K) .EQ. 0 ) THEN
GOTO 441
ENDIF

DO 433 E=1I-1 , I+1
DO 432 F=J-1, J+1
DO 431 G=K-1 , K+1

IF ( HESH(O0,E,F,G) .EQ. O ) THEN
GOTO 431
ENDIF

DO 425 L = 1 , HESH(0,I,J,K)
DO 424 H = 1 , HESH(0,E,F,G)

TI
TJ

HESH(L,I,J,K)
HESH(H,E,F,G)

IF ( TI .LE. TJ ) THEN
GOTO 424
ENDIF

TI3 = TIx3-2
TJ3 = TJx3-2

aQ

aQ

oooooooo
THP_R =

# ( ( ZAHYO(TJ3 ) - ZAHYO(TI3 ) )#*¥2 +

# ( ZAHYO(TJ3+1) - ZAHYO(TI3+1) )*¥2 +

# ( ZAHYO(TJ3+2) - ZAHYO(TI3+2) )*%2 )*%0.5d0

000000000 Dooooo
IF ( THP_R .GT. (PRH_CR + PRH_CD) ) THEN
GOTO 424
ENDIF
C LIST 000000000 sTop
IF ( ( LIST(0,TI) .EQ. MAX_LIST_N ) .OR.

# ( LIST(0,TJ) .EQ. MAX_LIST_N ) ) THEN
WRITE(*,%) °LIST_N is overflow: MHAX_LIST_N.’
STOP

ENDIF

IDX = IDX + 1

KYORI(IDX) = THP_R

LIST(0,TI) = LIST(O,TI) + 1

LIST( LIST(O,TI) ,TI ) = IDX

LIST( LIST(O0,TI) + HAX_LIST_N ,TI ) = TJ
LIST(0,TJ) = LIST(0,TJ) + 1

LIST( LIST(0,TJ) ,TJ ) = IDX

LIST( LIST(0,TJ) + HAX_LIST_N ,TJ ) =TI
oooooooooa

aQ

THP_CUTOFF = 1.0D0
IF ( THP_R .GE. ( PRH_CR - PRH_CD) ) THEN
THP_CUTOFF = 0.5D0 *
# ( 1.0D0 - SINC PI % ( THP_R - PRH_CR ) / (2.0DO * PRH_CD ) ))
ENDIF
IF ( THP_R .GE. ( PRH_CR + PRH_CD) ) THEN
THP_CUTOFF = 0.0D0
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ENDIF
CUTOFF(IDX) = THP_CUTOFF

424 CONTINUE
425 CONTINUE

431 CONTINUE
432 CONTINUE
433 CONTINUE

441 CONTINUE
442 CONTINUE
443 CONTINUE

C DO 452 I =1 , N
4 write (¥,%) '--",1I
C DO 451 J =1 , LIST(0,I)
C WRITE(*,*) LIST(J + HAX_LIST_N , I)
C 451 CONTINUE
C 452 CONTINUE
469 RETURN
499 STOP
END
C
C i 000000 Tersoff JOODOD

501 REAL*8 FUNCTION TERSOFF_I(I,ZAHYO,LIST,KYORI,CUTOFF)
INCLUDE °’PARAHETER’
INTEGER I

REAL*8 ZAHYO(HAX_ATOH3)

INTEGER LIST(O:HAX_LIST_N2,HAX_ATOHN)
REAL*8 KYORI(HAX_DATA_IDX)

REAL*8 CUTOFF(HAX_DATA_IDX)

INTEGER J,K,L,H
INTEGER I3,J3,K3
INTEGER IDXJ,IDXK

REAL*8 G,GCOS
REAL*8 ZETA

REAL*8 I
REAL*8 J
REAL*8 K
REAL*8 B

_X,IY, I
R PR SR I
_XK_Y,K_

NN N

REAL#*8 EXP
REAL#*8 THP

3 =1I%3 -2

X = ZAHYO(I3)
_Y = ZAHYO(I3+1)
_Z = ZAHYO(I3+2)

THP = 0.0DO

DO 520 L = 1 , LIST(0,I)
IDXJ = LIST(L,I)
J = LIST(L+HAX_LIST_N,I)
J3 = J%3 - 2

J_X = ZAHY0(J3)

J_Y = ZAHYO(J3+1)

J_Z = ZAHYO(J3+2)

ZETA = 0.0DO

DO 510 H = 1 , LIST(0,I)
IF ( L .EQ. H ) THEN
GOTO 510
ENDIF

DXK = LIST(H,I)

= LIST(H+HAX_LIST_N,I)
3 = Kx3 - 2

X = ZAHYO(K3)

Y = ZAHYO(K3+1)

A

I
K
K
K
K
K = ZAHYO(K3+2)

GCOS

R oW oW W

IF ( KYORI(CIDXK) .EQ. 0.0DO ) THEN



OO0 BOO ODODOODOOO

510

520

599

601

610

699

701

R oW oW W

WRITE(*,%) KYORI(IDXK) ,I,J.K
ENDIF

G = ( PRH_.C *x PRH_C ) / ( PRH_D % PRM_D ) -

( PRH_C * PRH_C ) /
( PRH_D % PRH_D + ( PRH_H - GCOS ) % (PRH_H - GCOS )
G =PRHA * ( G+ 1.0D0 )
ZETA = ZETA + CUTOFF (IDXK) * G
CONTINUE
Bij = ( 1.0 + ( ZETA )**( PRH_ETA) )**( -PRH_DELTA )
THP = THP +
CUTOFF (IDXJ) *
(
PRH_EA * EXP( -PRH_LUHBDA1 * KYORI(IDXJ) ) +
(PRH_EB) * Bij % EXP( -PRH_LUHBDA2 % KYORI(IDXJ))
)
CONTINUE

TERSOFF_I = THP

RETURN
STOP
END

REAL*8 FUNCTION TERSOFF (N,ZAHYO,LIST,KYORI,CUTOFF)
INCLUDE °’PARAHETER’

INTEGER I

INTEGER N

REAL*8 ZAHYO(HAX_ATOH3)

INTEGER LIST(O:HAX_LIST_N2,HAX_ATOHN)

REAL*8 KYORI(HAX_DATA_IDX)

REAL*8 CUTOFF(HAX_DATA_IDX)

REAL*8 TERSOFF_I

TERSOFF = 0.0DO

DO 610 I =1, N
TERSOFF = TERSOFF +
TERSOFF_I(I,ZAHYO,LIST,KYORI,CUTOFF)

CONTINUE
TERSOFF = TERSOFF / 2.0D0

RETURN
STOP
END

SUBROUTINE CALC_DIFF1(N,ZAHYO,LIST,KYORI,CUTOFF,DIFF1)
INCLUDE °’PARAHETER’

INTEGER N,N3

REAL*8 ZAHYO(HAX_ATOH3)

INTEGER LIST(O:HAX_LIST_N2,HAX_ATOHN)

REAL*8 KYORI(HAX_DATA_IDX)

REAL*8 CUTOFF(HAX_DATA_IDX)

REAL*8 DIFF1(HAX_ATOH3)
INTEGER I,ID3

REAL*8 ZAHYO_ORG
REAL*8 TERSOFF_LI

REAL#*8 THP

N3 =N %3

DO 710 I = 1 , N3
I3 =(I1+2)/3
ZAHYO_ORG = ZAHYO(I)

ZAHYO(I) = ZAHYO_ORG + EPS1
CALL RECALC(ID3,ZAHYO,LIST,KYORI,CUTOFF)
THP = TERSOFF_LI(ID3,ZAHYO,LIST,KYORI,CUTOFF)

ZAHYO(I) = ZAHYO_ORG - EPS1

CALL RECALC(ID3,ZAHYO,LIST,KYORI,CUTOFF)

THP = THP -
TERSOFF_LI(ID3,ZAHYO,LIST,KYORI, CUTOFF)

ZAHYO(I) = ZAHYO_ORG
CALL RECALC(ID3,ZAHYO,LIST,KYORI,CUTOFF)

THP = THP / ( 2.0 * EPS1 )

DIFF1(I) = -THP
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710 CONTINUE

RETURN
799 STOP
END

801 SUBROUTINE RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
INCLUDE °’PARAHETER’
INTEGER I,I3
REAL*8 ZAHYO(HAX_ATOH3)
INTEGER LIST(O:HAX_LIST_N2,HAX_ATOHN)
REAL*8 KYORI(HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)

INTEGER J,J3
INTEGER IDXJ
INTEGER H

REAL*8 THP_R
REAL*8 THP_CUTOFF

REAL#*8 SIN
REAL#*8 SQRT

I3 = I*3-2

DO 810 H = 1 , LIST(0,I)
IDXJ = LIST(H,I)
J = LIST(H+HAX_LIST_N,I)
IDXJ = LIST(H,I)

J3 = J*3-2

THP_R =
# SQRT ( ( ZAHYO(J3) - ZAHYO(I3) )**2 +
( ZAHYO(J3+1) - ZAHYO(I3+1) )*%2 +
# ( ZAHYO(J3+2) - ZAHYO(I3+2) )*x2 )

*

KYORI(IDXJ) = THP_R

THP_CUTOFF = 1.0D0
IF ( THP_R .GE. ( PRH_CR - PRH_CD) ) THEN
THP_CUTOFF = 0.5D0 *
# ( 1.0D0 - SINC PI % ( THP_R - PRH_CR ) / (2.0DO * PRH_CD ) ))
ENDIF
IF ( THP_R .GE. ( PRH_CR + PRH_CD) ) THEN
THP_CUTOFF = 0.0D0O
ENDIF

CUTOFF(IDXJ) = THP_CUTOFF
810 CONTINUE

RETURN
899 STOP
END

901 REAL*8 FUNCTION TERSOFF_LI(I,ZAHYO,LIST,KYORI,CUTOFF)
INCLUDE °’PARAHETER’
INTEGER I
REAL*8 ZAHYO(HAX_ATOH3)
INTEGER LIST(O:HAX_LIST_N2,HAX_ATOHN)
REAL*8 KYORI(HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)
REAL*8 TERSOFF_I
INTEGER L

INTEGER J
TERSOFF_LI = TERSOFF_I(I,ZAHYO,LIST,KYORI,CUTOFF)
DO 910 L = 1 , LIST(0,I)
J = LIST(L + HAX_LIST_N,I)
TERSOFF_LI = TERSOFF_LI +
# TERSOFF_I(J,ZAHYO,LIST,KYORI,CUTOFF)
910 CONTINUE
RETURN
999 STOP
END

1001 SUBROUTINE HAKE_LIST2(N,LIST,LIST2)
INCLUDE °’PARAHETER’
INTEGER N
INTEGER LIST(O:HAX_LIST_N2,HAX_ATOHN)
INTEGER LIST2(O0:HAX_LIST2_N,HAX_ATOHN)

INTEGER I,J,K,L,H
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DO 1010 I =1 , N
LIST2(0,I) = 0

DO 1005 J =1 , LIST(0,I)
L = LIST(J+HAX_LIST_N,I)

DO 1003 K = 1 , LIST(O,L)

H = LIST(K+HAX_LIST_N,L)

IF ( H .EQ. I) THEN
GOTO 1003

ENDIF

IF ( H .EQ. L) THEN
GOTO 1003

ENDIF

IF ( LIST2(0,I) .EQ. MAX_LIST2_N ) THEN
WRITE(*,*) *HAX_LIST2_N is overflow’
STOP

ENDIF

LIST2(0,I) = LIST2(0,I) + 1
LIST2(LIST2(0,I),I) = H

1003 CONTINUE
1005 CONTINUE
1010 CONTINUE

RETURN
1099 STOP
END

1101 SUBROUTINE CALC_DIFF2
#(N,ZAHYO,LIST,LIST2,KYORI,CUTOFF ,DIFF2,DIFF2_DATA)
INCLUDE °’PARAHETER’

INTEGER N,N3
INTEGER LIST(O:HAX_LIST_N2,HAX_ATOHN)
INTEGER LIST2(O0:HAX_LIST2_N,HAX_ATOHN)

REAL*8 ZAHYO(HAX_ATOH3)
REAL*8 KYORI(HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)

INTEGER DIFF2(O0:HAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DIFF2_DATA(MAX_DIFF2_LIST,HAX_ATOH3)

INTEGER I,J,K
INTEGER L

N3 =N %3
DO 1110 I = 1 , HAX_ATOH3

DIFF2(0,I) = 0
1110 CONTINUE

aaa

DO 1150 I =1 , N

C oooooooo
CALL CALC_DIFF2_1
# (I,ZAHYO,LIST,KYORI,CUTOFF,DIFF2,DIFF2_DATA)
C ooooooooao

DO 1145 L =1 , LIST(0,I)
J = LIST(L+HAX_LIST_N,I)

CALL CALC_DIFF2_2
# (I,J,ZAHYO,LIST,KYORI,CUTOFF ,DIFF2,DIFF2_DATA)
1145 CONTINUE

C oooooooo

DO 1146 L = 1 , LIST2(0,I)
J = LIST2(L,I)
CALL CALC_DIFF2_3
# (I,J,ZAHYO,LIST,KYORI,CUTOFF ,DIFF2,DIFF2_DATA)
1146 CONTINUE

1150 CONTINUE

RETURN
1199 STOP
END

1201 SUBROUTINE CALC_DIFF2_1
# (I,ZAHYO,LIST,KYORI,CUTOFF,DIFF2,DIFF2_DATA)

INCLUDE °’PARAHETER’
INTEGER I
INTEGER LIST(O:HAX_LIST_N2,HAX_ATOHN)

REAL*8 ZAHYO(HAX_ATOH3)
REAL*8 KYORI(HAX_DATA_IDX)
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REAL*8 CUTOFF(HAX_DATA_IDX)

INTEGER DIFF2(O0:HAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DIFF2_DATA(MAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 TERSOFF_LI

INTEGER I3 , J3
INTEGER II,JJ
INTEGER I3II,J3JJ
REAL*8 X,Y

REAL#*8 THP
REAL*8 DATA

I3 = I%3 - 3

J3 = 13
DO 1230 II =1 , 3
DO 1220 JJ =1 , 3
I3II = I3 + II

J33J1 =313 + 1]

IF

I3II .NE. J3JJ ) THEN

X = ZAHYO(I3II)
Y = ZAHYO(J3JD)

ZAHYO(I3II) = X + EPS2

ZAHYO(J3JJ) = Y + EPS2

CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)

THP = TERSOFF_LI(I,ZAHYO,LIST,KYORI,CUTOFF)

ZAHYO(I3II) = X - EPS2
ZAHYO(J3JJ) = Y - EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
THP = THP +
# TERSOFF_LI(I,ZAHYO,LIST,KYORI,CUTOFF)

ZAHYO(I3II) = X + EPS2
ZAHYO(J3JJ) = Y - EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
THP = THP -
# TERSOFF_LI(I,ZAHYO,LIST,KYORI,CUTOFF)

ZAHYO(I3II) = X - EPS2
ZAHYO(J3JJ) = Y + EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
THP = THP -
# TERSOFF_LI(I,ZAHYO,LIST,KYORI,CUTOFF)

DATA = THP / ( 8.0DO * EPS2 x EPS2 )

ZAHYO(I3II) = X
ZAHYO(J3J)) =Y

ELSE
X = ZAHYO(I3II)

ZAHYO(I3II) = X + 2.0DO*EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
THP = TERSOFF_LI(I,ZAHYO,LIST,KYORI,CUTOFF)

ZAHYO(I3II) = X - 2.0DO*EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
THP = THP +
# TERSOFF_LI(I,ZAHYO,LIST,KYORI,CUTOFF)

ZAHYO(I3II) = X + EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
THP = THP -
# TERSOFF_LI(I,ZAHYO,LIST,KYORI,CUTOFF)

ZAHYO(I3II) = X - EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
THP = THP -

# TERSOFF_LI(I,ZAHYO,LIST,KYORI,CUTOFF)
DATA = THP / ( 3.0DO * EPS2 x EPS2 )
ZAHYO(I3II) = X

ENDIF

CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL ADD_DIFF2( DATA , I3II , J3JJ , DIFF2 ,DIFF2_DATA)

1220 CONTINUE
1230 CONTINUE

RETURN
1299 STOP
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1301

1349

1351

1360

1380
1399

END

SUBROUTINE ADD_DIFF2( DATA , I3II , J3JJ , DIFF2 , D
INCLUDE °’PARAHETER’

INTEGER I3I

I

, J3J33

INTEGER DIFF2(O0:HAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DIFF2_DATA(MAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DATA

IF ( DIFF2(0,I3II) .EQ.

WRITE(x,
STOP
ENDIF

DIFF2(0,I31

*)

I)

’HAX_DIFF2

= DIFF2(0,

HAX_DIFF2_LIST ) THEN
_LIST is overflow.’

I3II) + 1

DIFF2(DIFF2(0,I3II),I3II) = J3]J
DIFF2_DATA(DIFF2(0,I3II),I3II) = DATA
WRITE(*,*) I3II , J3JJ,

RETURN
STOP
END

DATA

SUBROUTINE ADD2_DIFF2( DATA , I3II , J3JJ , DIFF2 ,
INCLUDE °’PARAHETER’

INTEGER I3I

I

, J3J33

INTEGER DIFF2(O0:HAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DIFF2_DATA(MAX_DIFF2_LIST,HAX_ATOH3)

REAL*8 DAT
INTEGER I

DO 1360 I =

IF ( DIFF2(I,I3II)

A

1

, DIFF2(0,

DIFF2_DATA(I,I3II)

I31I1)

\EQ. J3J]J ) THEN

= DIFF2_DATA(I,I3II) + DATA

GOTO 1380
ENDIF
CONTINUE
WRITE(x,*) ’error ADD2_DIFF2’

STOP

WRITE(*,*) I3II , J3JJ,

RETURN
STOP
END

1401 SUBROUTINE CALC_DIFF2_2
(I,J,ZAHYO,LIST,KYORI,CUTOFF ,DIFF2,DIFF2_DATA)

#

INCLUDE °’PARAHETER’

INTEGER I,J

DATA

INTEGER LIST(O:HAX_LIST_N2,HAX_ATOHN)
INTEGER LIST_IJ(O:HAX_LIST_IJ)

REAL*8 ZAHYO(HAX_ATOH3)
REAL*8 KYORI(HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)

INTEGER DIFF2(O0:HAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DIFF2_DATA(MAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 TERSOFF_I
REAL*8 TERSOFF_LIJ

INTEGER I3
INTEGER II,

3

J3

INTEGER I3II,J3JJ

REAL#*8 X,Y

REAL#*8 THP
REAL*8 DATA

CALL HAKE_LIST_IJ( I,J,LIST_IJ,LIST )

I3 = I*3 -
J3 = J*x3 -
DO 1430 II
DO 1420
I3II

1313

X

Y

e
Py

1,3
=1, 3
I3 + II
J3 + 3

ZAHYO(I3II)
ZAHYO(J3]J)

IFF2_DATA )

DIFF2_DATA )
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ZAHYO(I3II) = X + EPS2
ZAHYO(J3JJ) = Y + EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL RECALC(J,ZAHYO,LIST,KYORI,CUTOFF)
THP = TERSOFF_I(I,ZAHYO,LIST,KYORI,CUTOFF)
# +TERSOFF_I(J,ZAHYO,LIST ,KYORI,CUTOFF)
# +TERSOFF_LIJ(LIST_IJ,ZAHYO,LIST,KYORI,CUTOFF)

ZAHYO(I3II) = X - EPS2
ZAHYO(J3JJ) = Y - EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL RECALC(J,ZAHYO,LIST,KYORI,CUTOFF)

THP = THP
# +TERSOFF_I(I,ZAHYO,LIST,KYORI,CUTOFF)
# +TERSOFF_I(J,ZAHYO,LIST ,KYORI,CUTOFF)
# +TERSOFF_LIJ(LIST_IJ,ZAHYO,LIST,KYORI,CUTOFF)
ZAHYO(I3II) = X + EPS2
ZAHYO(J3JJ) = Y - EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL RECALC(J,ZAHYO,LIST,KYORI,CUTOFF)
THP = THP
# -TERSOFF_I(I,ZAHYO,LIST,KYORI,CUTOFF)
# -TERSOFF_I(J,ZAHYO,LIST ,KYORI,CUTOFF)
# -TERSOFF_LIJ(LIST_IJ,ZAHYO,LIST,KYORI,CUTOFF)
ZAHYO(I3II) = X - EPS2
ZAHYO(J3JJ) = Y + EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL RECALC(J,ZAHYO,LIST,KYORI,CUTOFF)
THP = THP
# -TERSOFF_I(I,ZAHYO,LIST,KYORI,CUTOFF)
# -TERSOFF_I(J,ZAHYO,LIST ,KYORI,CUTOFF)
# -TERSOFF_LIJ(LIST_IJ,ZAHYO,LIST,KYORI,CUTOFF)

DATA = THP / ( 8.0DO * EPS2 x EPS2 )

ZAHYO(I3II)
ZAHYO(J3J)) =Y

[
be

CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL RECALC(J,ZAHYO,LIST,KYORI,CUTOFF)

CALL ADD_DIFF2( DATA , I3II , J3JJ , DIFF2 ,DIFF2_DATA)

1420 CONTINUE
1430 CONTINUE

RETURN
1499 STOP
END

1501 SUBROUTINE HAKE_LIST_IJ( I,J,LIST_IJ,LIST )
INCLUDE °’PARAHETER’

INTEGER I,J
INTEGER LIST_IJ(O:HAX_LIST_IJ)
INTEGER LIST(O:HAX_LIST_N2,HAX_ATOHN)

INTEGER L,H
LIST_IJ(0) = 0

DO 1540 L = 1 , LIST(0,I)
DO 1530 H = 1 , LIST(0,])
IF ( LIST(L+HAX_LIST_N,I)
# \NE. LIST(M+HAX_LIST_N,J)) THEN
GOTO 1530
ENDIF

IF ( LIST_IJ(0) .EQ. MAX_LIST_IJ ) THEN
WRITE(*,*) ’HAX_LIST_IJ is overflow.’
ENDIF

LIST_IJ(0) = LIST_IJ(0) + 1
LIST_IJ(LIST_IJ(0)) = LIST(L+MAX_LIST_N,I)

1530 CONTINUE
1540 CONTINUE

RETURN
1599 STOP
END

1601 REAL*8 FUNCTION TERSOFF_LIJ(LIST_IJ,ZAHYO,LIST,KYORI,CUTOFF)
INCLUDE °’PARAHETER’
INTEGER LIST_IJ(O:HAX_LIST_IJ)
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REAL*8
INTEGER
REAL*8
REAL*8
REAL*8
INTEGER
TERSOFF _|
DO 1610
I=1L

TERSO.

1610 CONTINU

RETURN

1699 STOP
END

1701 SUBROUTI

# (I,J,ZAHYO,LIST,KYORI,CUTOFF ,DIFF2,DIFF2_DATA)

INCLUDE
INTEGER
INTEGER
INTEGER

REAL*8
REAL*8
REAL*8

INTEGER
REAL*8

ZAHYO(HAX_ATOH3)
LIST(O:HAX_LIST_N2,HAX_ATOHN)
KYORI (HAX_DATA_IDX)

CUTOFF (HAX_DATA_IDX)

TERSOFF_I
I,L
LIJ = 0.0DO

L =1, LIST_IJ(0)
IST_IJ(L)

FF_LIJ = TERSOFF_LIJ +
TERSOFF_I(I,ZAHYO,LIST,KYORI,CUTOFF)

E

NE CALC_DIFF2_3

’PARAHETER’

IJ
LIST(O:HAX_LIST_N2,HAX_ATOHN)
LIST_IJ(O:HAX_LIST_IJ)

ZAHYO(HAX_ATOH3)
KYORI (HAX_DATA_IDX)
CUTOFF (HAX_DATA_IDX)

DIFF2(0:HAX_DIFF2_LIST,HAX_ATOH3)
DIFF2_DATA(MAX_DIFF2_LIST,HAX_ATOH3)

REAL*8 TERSOFF_LIJ

INTEGER I3 , J3
INTEGER II,JJ
INTEGER I3II,J3JJ
REAL*8 X,Y

REAL#*8 THP
REAL*8 DATA

CALL HAKE_LIST_IJ(

I3 = I%3 - 3
J3 = J%3 - 3

DO 1730 II =1 , 3
DO 1720 JJ =1 ,
I3IT = I3 + I

J3J1 =113+

X = ZAHYO(I3I
Y = ZAHYO(J3J

ZAHYO(I3II) =
ZAHYO(J3])) =
CALL RECALC(I
CALL RECALC(J

THP = TERSOFF

ZAHYO(I3II) =
ZAHYO(J3])) =
CALL RECALC(I
CALL RECALC(J

THP = THP
# +TERSOFF

ZAHYO(I3II) =
ZAHYO(J3])) =
CALL RECALC(I
CALL RECALC(J

THP = THP
# —-TERSOFF

ZAHYO(I3II) =
ZAHYO(J3])) =
CALL RECALC(I
CALL RECALC(J

THP = THP
# —-TERSOFF

I,J,LIST_IJ,LIST )

I
J

I)
Ap]

X + EPS2
Y + EPS2
,ZAHYO,LIST,KYORI,CUTOFF)
,ZAHYO,LIST,KYORI,CUTOFF)

_LIJ(LIST_IJ,ZAHYO,LIST,KYORI, CUTOFF)

X - EPS2
Y - EPS2
,ZAHYO,LIST,KYORI,CUTOFF)
,ZAHYO,LIST,KYORI,CUTOFF)

_LIJ(LIST_IJ,ZAHYO,LIST,KYORI,CUTOFF)

X + EPS2
Y - EPS2
,ZAHYO,LIST,KYORI,CUTOFF)
,ZAHYO,LIST,KYORI,CUTOFF)

_LIJ(LIST_IJ,ZAHYO,LIST,KYORI,CUTOFF)
X - EPS2
Y + EPS2

,ZAHYO,LIST,KYORI,CUTOFF)
,ZAHYO,LIST,KYORI,CUTOFF)

_LIJ(LIST_IJ,ZAHYO,LIST,KYORI,CUTOFF)
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DATA = THP / ( 8.0D0 * EPS2 x EPS2 )

ZAHYO(I3II) = X
ZAHYO(J3J)) =Y

CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL RECALC(J,ZAHYO,LIST,KYORI,CUTOFF)

CALL ADD_DIFF2( DATA , I3II , J3JJ , DIFF2 ,DIFF2_DATA)

1720 CONTINUE
1730 CONTINUE

RETURN
1799 STOP
END

1801 SUBROUTINE CONJGRAD(N,ZAHYO,DIFF1,DIFF2,DIFF2_DATA)
INCLUDE °’PARAHETER’
INTEGER N
REAL*8 ZAHYO(HAX_ATOH3)
REAL*8 DIFF1(HAX_ATOH3)
INTEGER DIFF2(O0:HAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DIFF2_DATA(MAX_DIFF2_LIST,HAX_ATOH3)

INTEGER N3

REAL*8 P(MAX_ATOH3)
REAL*8 R(MAX_ATOHN3)
REAL*8 AP(MAX_ATOH3)
REAL*8 X (MAX_ATOH3)

REAL*8 NORH_R2,NORH_R2_
REAL#*8 PAP

REAL*8 &

REAL*8 C

INTEGER I,J,K
INTEGER L

N3 = N*x3
NORH_R2 = 0.0DO

DO 1810 I =1 , N3
X(I) = 0.0DO
R(I) = DIFF1(I)
P(I) = DIFF1(I)
NORH_R2 = NORH_R2 + R(I) % R(I)
1810 CONTINUE

C WRITE(#%,%) O,NORH_R2
DO 1860 K = 1 , N3

IF ( NORH_R2 .LT. 1.0D-6 ) THEN
GOTO 1865
ENDIF

DO 1820 I =1 , N3
AP(I) = 0.0DO
DO 1815 L = 1 , DIFF2(0,I)
J = DIFF2(L,I)
AP(I) = AP(I) + P(J) % DIFF2_DATA(L,I)

1815 CONTINUE
1820 CONTINUE

PAP = 0.0DO
DO 1830 I =1 , N3
PAP = PAP + P(I) % AP(I)
1830 CONTINUE

A = NORHM_R2 / PAP
C WRITE(*,*) ’4=’,4

NORH_R2_ = 0.0DO

DO 1840 I =1 , N3
X(I) = X(I) + & % P(I)
R(I) = R(I) - & % AP(I)
NORH_R2_ = NORH_R2_ + R(I) * R(I)
1840 CONTINUE

C WRITE(#,%) K,NORH_R2_

C = NORH_R2_ / NORH_R2

IF ( ¢ .GT. 1.0D0 ) THEN
GOTO 1865

ENDIF
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NORH_R2 = NORH_R2_
DO 1850 I =1 , N3
P(I) = R(I) + C % P(I)
1850 CONTINUE

1860 CONTINUE
1865 DO 1870 I

ZAHYO(I)
1870 CONTINUE

1, N3
= ZAHYO(I) + X(I)

RETURN
1899 STOP
END

1901 SUBROUTINE HAKE_LIST_VDW(N,ZAHYO,LIST_VDW,KYORI,CUTOFF,IDX
#,LIST,LIST2,AN)
INCLUDE °’PARAHETER’
INTEGER N,N3

REAL*8 ZAHYO(HAX_ATOH3)

CHARACTER*8 AN(HAX_ATOHN)

INTEGER LIST_VDW(O:HAX_LIST_VN2,HAX_ATOH)
REAL*8 KYORI(HAX_DATA_IDX)

REAL*8 CUTOFF(HAX_DATA_IDX)

INTEGER IDX

INTEGER LIST(O:HAX_LIST_N2,HAX_ATOHN)
INTEGER LIST2(O0:HAX_LIST2_N,HAX_ATOHN)

REAL*8 HAX_X,HAX_ Y HAX_ Z
REAL*8 HIN_X,HIN_Y,HIN_Z

INTEGER I,K,
INTEGER E,F,G
INTEGER L,H
INTEGER I3

INTEGER HESH_X,HESH_Y,HESH_Z
INTEGER TX,TY,TZ
INTEGER TI,TJ,TI3,TJ3

INTEGER HESH_V(O:HAX_HESH_V_ATOH,
# 0:MAX_HESH_V_X+1,0:HAX_HESH_V_Y+1,0:HAX_HESH_V_Z+1)

REAL*8 THP_R,THP_CUTOFF
C REAL*8 SIN

INTEGER IDX

N3 =N %3

C ooooooooao
DO 1905 I = 1 , HAX_ATOH
LIST_YDW(0,I) = 0
1905 CONTINUE

C HESH 000000
DO 1906 I = 0 , HAX_HESH_V_X+1
DO 1906 J = 0 , HAX_HMESH__V_Y+1
DO 1906 K = 0 , HAX_HMESH_V_Z+1
HESH_V(0,I,J,K) =0
1906 CONTINUE

C 00000000 -00000000

HAX_X = ZAHYO(1)
HAX_Y = ZAHYO(2)
HAX_Z = ZAHYO(3)
HIN_X = ZAHYO(1)
HIN_Y = ZAHYO(2)
HIN_Z = ZAHYO(3)

DO 1910 I = 4 , N3 , 3

IF ( HAX_X .LT. ZAHYO(I) ) THEN
HAX_X = ZAHYO(I)

ENDIF

IF ( HAX_Y .LT. ZAHYO(I+1) ) THEN
HAX_Y = ZAHYO(I+1)

ENDIF

IF ( HAX_Z .LT. ZAHYO(I+2) ) THEN
HAX_Z = ZAHYO(I+2)

ENDIF

IF ( MIN_X .GT. ZAHYO(I) ) THEN
HIN_X = ZAHYO(I)

ENDIF
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IF ( MIN_Y .GT. ZAHYO(I+1) ) THEN
HIN_Y = ZAHYO(I+1)
ENDIF
IF ( HIN_Z .GT. ZAHYO(I+2) ) THEN
HIN_Z = ZAHYO(I+2)
ENDIF
1910 CONTINUE

C 00O00O0o0o0O0O0O0D0OOO0O0O0OO0O0O0
C 0000O00o0O0000OOO0O0O0O00OO0O0O0
HESH_X = 1 + ( ( HAX_X - HIN_X ) / HESH_D_VDW )
HESH_Y = 1 + ( ( HAX_Y - HIN_Y ) / HESH_D_VDW )
HESH_Z = 1 + ( ( HAX_Z - HIN_Z ) / HESH_D_VDW )
C HESH 0000 00000000 STOP
IF ( HESH_X .LE. HAX_MESH_V_X ) THEN
GOTO 1915
ENDIF
IF ( HESH_Y .LE. HAX_MESH_V_Y ) THEN
GOTO 1915
ENDIF
IF ( HESH_Z .LE. HAX_MESH_V_Z ) THEN
GOTO 1915
ENDIF
WRITE(*,%) ’HESH is overflow-vdw: MAX_V_HESH.’>, HESH_X,HESH_Y,HESH_Z
STOP
C 000000 HESH O 00DOOOO0O0ODOO

1915 DO 1920 I = 1 , N

I3=1%3-2

TX = 1 + ( ( ZAHYO(I3) - HIN_X ) / HESH_D_VDW )

TY = 1 + ( ( ZAHYO(I3+1) - HIN_Y ) / HESH_D_VDW

TZ = 1 + ( ( ZAHYO(I3+2) - HIN_Z ) / HESH_D_VDW
C HESH 000000000 sTOP

IF ( MESH_V(0,TX,TY,TZ) .GE. HAX_HESH_V_ATOH ) THEN
WRITE(*,%) *HESH_V_ATOH is overflow: HAX_MESH_V_ATOHN.’
STOP

ENDIF

HESH_V(0,TX,TY,TZ) = HESH_V(0,TX,TY,TZ) + 1
HESH_V( HESH_V(O0,TX,TY,TZ) , TX,TY,TZ) =1

1920 CONTINUE

C HESH 000000 D00 (7 000D0O)
C 0 000000 OO0OLIsT 00oooo
C 0000 DOOoOoOoooOOoOoooooa

DO 1943 I =1 , HESH_X
DO 1942 J = 1 , HESH_Y
DO 1941 K = 1 , HESH_Z

IF ( HESH_V(0,I,J,K) .EQ. 0 ) THEN
GOTO 1941
ENDIF

DO 1933 E=I1 -1 , I +1
DO 1932 F=J -1, J+ 1
DO 1931 G =K -1 , K+ 1

DO 1925 L = 1 , HESH_V(0,I,J,K)
DO 1924 H = 1 , HESH_V(0,E,F,G)

TI = HESH_V(L,I,J,K)
TJ = HESH_V(N,E,F,G)

IF ( TI .LE. TJ ) THEN
GOTO 1924
ENDIF

TI3 = TIx3-2
TJ3 = TJx3-2

C
C oooooooo
C
THP_R =
# ( ( ZAHYO(TJ3 ) - ZAHYO(TI3 ) )#*¥2 +
# ( ZAHYO(TJ3+1) - ZAHYO(TI3+1) )*¥2 +
# ( ZAHYO(TJ3+2) - ZAHYO(TI3+2) )*%2 )*%0.5d0
C

C oooooooooa
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IF ( THP_R .GT. (PRH_VCR2 + PRH_VCD2) ) THEN
GOTO 1924
ENDIF

C 0oooooo oo
IF ( AN(TI) .EQ. AN(TJ) ) THEN
GOTO 1924
ENDIF

C WRITE(#,%) AN(TI) , AN(TJ)

C LIST 000000000 sTop

IF ( ( LIST_VDW(O,TI) .EQ. HAX_LIST_VN ) .OR.

# ( LIST_VDW(O0,TJ) .EQ. HAX_LIST_VN ) ) THEN
WRITE(*,%) *LIST_VN is overflow: MAX_LIST_VN.’
STOP

ENDIF

IDX = IDX + 1
KYORI(IDX) = THP_R

LIST_YDW(O,TI) = LIST_VDW(O,TI) + 1
LIST_YDW( LIST_VDW(O,TI) ,TI ) = IDX
LIST_YDW( LIST_VDW(O,TI) + MAX_LIST_VN ,TI ) = TJ

LIST_YDW(0,TJ) = LIST_VDW(O,TJ) + 1

LIST_YDW( LIST_VDW(O0,TJ) ,TJ ) = IDX
LIST_YDW( LIST_VDW(O,TJ) + HAX_LIST_VN ,TJ ) =TI

oooooooooa

aQ

THP_CUTOFF = 0.0D0
IF ( THP_R .GE. ( PRH_VCR - PRH_VCD) ) THEN
THP_CUTOFF = 0.5D0 *
# ( 1.0D0 + SINC PI % ( THP_R - PRH_VCR ) / (2.0DO % PRH_VYCD ) ))
ENDIF
IF ( THP_R .GE. ( PRH_VCR + PRH_VCD) ) THEN
THP_CUTOFF = 1.0D0
ENDIF
IF ( THP_R .GE. ( PRH_VCR2 - PRH_VCD2) ) THEN
THP_CUTOFF = 0.5D0 *
# (1.0D0 - SINC PI * (THP_R - PRH_VCR2 )/(2.0DO * PRH_VCD2 ) ))
ENDIF
IF ( THP_R .GE. ( PRH_VCR2 + PRH_VCD2) ) THEN
THP_CUTOFF = 0.0D0
ENDIF

CUTOFF(IDX) = THP_CUTOFF

1924 CONTINUE
1925 CONTINUE

1931 CONTINUE
1932 CONTINUE
1933 CONTINUE

1941 CONTINUE
1942 CONTINUE
1943 CONTINUE

DO 1952 I =1 , N
write (*,*) ,I
DO 1951 J =1 , LIST_VYDW(O,I)
WRITE(*,*) LIST_VDW(J + HAX_LIST_VYN , I)
C 1951 CONTINUE
C 1952 CONTINUE

aaaa

1969 RETURN
1999 STOP
END

¢ 00 I 0000 Van Der Waals 0O OOODO

2001 REAL*8 FUNCTION VDW_I(I,ZAHYO,LIST_VDW,KYORI,CUTOFF)
INCLUDE °’PARAHETER’
INTEGER I

REAL*8 ZAHYO(HAX_ATOH3)

INTEGER LIST_VDW(O:HAX_LIST_VN2,HAX_ATOH)
REAL*8 KYORI(HAX_DATA_IDX)

REAL*8 CUTOFF(HAX_DATA_IDX)

REAL*8 R,U
REAL#*8 VDW_FUNC

INTEGER L,IDXJ
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U = 0.0D0

DO 2010 L = 1 , LIST_YDW(0,I)
IDXJ = LIST_VDW(L,I)
R = KYORI(IDXJ)
U = U + CUTOFF(IDXJ) % VDW_FUNC(R)

2010 CONTINUE

VDH_I = U
C write(*,x) “VDW" , U , R

RETURN

2049 STOP
END

2050 REAL*8 FUNCTION VDW_FUNC(R)
INCLUDE °’PARAHETER’
REAL#*8 R,SR
REAL*8 THP_CUTOFF
REAL*8 SIN

SR = 3.407D0 / R

THP_CUTOFF = 0.0D0
IF ( R .GE. ( PRH_VCR - PRH_VCD) ) THEN

THP_CUTOFF = 0.5D0 *
# (1.0D0 + SINC PI x ( R - PRH_VCR ) / (2.0DO % PRH_VCD ) )
ENDIF
IF ( R .GE. ( PRH_VCR + PRH_VCD) ) THEN
THP_CUTOFF = 1.0D0
ENDIF
IF ( R .GE. ( PRH_VCR2 - PRH_VCD2) ) THEN
THP_CUTOFF = 0.5D0 *
# ( 1.0D0 - SINC PI # ( R - PRH_VCR2 ) / (2.0D0 * PRH_VCD2 ) ))
ENDIF
IF ( R .GE. ( PRH_VCR2 + PRH_VCD2) ) THEN
THP_CUTOFF = 0.0D0

ENDIF

YDH_FUNC =
# 4.0D0 % 0.002964D0 *
# ( SR¥¥12.0D0 - SR¥*6.0D0 )
# * THP_CUTOFF

RETURN

2099 STOP
END

2101 SUBROUTINE CALC_DIFF1_VDW(N,ZAHYO,LIST_VDW,KYORI,CUTOFF,DIFF1)
INCLUDE °’PARAHETER’
INTEGER N,N3
REAL*8 ZAHYO(HAX_ATOH3)
INTEGER LIST_VDW(O:HAX_LIST_VN2,HAX_ATOH)
REAL*8 KYORI(HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)

REAL*8 DIFF1(HAX_ATOH3)
INTEGER I,ID3

REAL*8 ZAHYO_ORG
REAL*8 VDW_I

REAL#*8 THP

N3 =N %3

DO 2110 I =1 , N3

I3 =(I1+2)/3
ZAHYO_ORG = ZAHYO(I)

ZAHYO(I) = ZAHYO_ORG + EPS1
CALL RECALC_VDW(ID3,ZAHYO,LIST_VDW,KYORI,CUTOFF)
THP = VDW_I(ID3,ZAHYO,LIST_VYDW,KYORI,CUTOFF)

ZAHYO(I) = ZAHYO_ORG - EPS1
CALL RECALC_VDW(ID3,ZAHYO,LIST_VDW,KYORI,CUTOFF)
THP = THP -

# VDW_I(ID3,ZAHYO,LIST_VYDW,KYORI,CUTOFF)

ZAHYO(I) = ZAHYO_ORG
CALL RECALC_VDW(ID3,ZAHYO,LIST_VDW,KYORI,CUTOFF)

THP = THP / ( 2.0 * EPS1 )
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C WRITE(*,*) , I , THP

DIFF1(I) = DIFF1(I) - THP

C DIFF1(I) = - THP

aacacaacaaa

2110 CONTINUE

RETURN
2199 STOP
END
2201 SUBROUTINE RECALC_VDW(I,ZAHYO,LIST_VDW,KYORI,CUTOFF)
INCLUDE °’PARAHETER’
INTEGER I,I3
REAL*8 ZAHYO(HAX_ATOH3)
INTEGER LIST_VDW(O:HAX_LIST_VN2,HAX_ATOH)
REAL*8 KYORI(HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)

INTEGER J,J3
INTEGER IDXJ
INTEGER H

REAL*8 THP_R
REAL*8 THP_CUTOFF

REAL*8 SIN
REAL#*8 SQRT

I3 = I*3-2

DO 2210 H = 1 , LIST_YDW(0,I)
IDXJ = LIST_VDW(H,I)
J = LIST_VDW(H+HAX_LIST_VN,I)

J3 = J*3-2

THP_R =
# SQRT ( ( ZAHYO(J3) - ZAHYO(I3) )**2 +
( ZAHYO(J3+1) - ZAHYO(I3+1) )*%2 +
# ( ZAHYO(J3+2) - ZAHYO(I3+2) )*x2 )

*

KYORI(IDXJ) = THP_R

THP_CUTOFF = 1.0D0

IF ( THP_R .GE. ( PRH_CR - PRH_CD) ) THEN

THP_CUTOFF = 0.5D0 *

# ( 1.0D0 - SINC PI % ( THP_R - PRH_CR ) / (2.0DO % PRH_CD ) ))

ENDIF

IF ( THP_R .GE. ( PRH_CR + PRH_CD) ) THEN

THP_CUTOFF = 0.0D0O
ENDIF

CUTOFF(IDXJ) = THP_CUTOFF
2210 CONTINUE

RETURN
2299 STOP
END
2301 REAL*8 FUNCTION VDW(N,ZAHYO,LIST_VDW,KYORI,CUTOFF)
INCLUDE °’PARAHETER’
INTEGER I
INTEGER N
REAL*8 ZAHYO(HAX_ATOH3)
INTEGER LIST_VDW(O:HAX_LIST_VN2,HAX_ATOH)
REAL*8 KYORI(HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)
REAL*8 VDW_I

VDW = 0.0DO
DO 2310 I =1 , N
VDW = VDW +

# VDW_I(I,ZAHYO,LIST_VDW,KYORI,CUTOFF)
2310 CONTINUE

VDW = VDW / 2.0D0

RETURN
2399 STOP

END
2401 SUBROUTINE CALC_DIFF2_VDW

#(N,ZAHYO,LIST_VDW,KYORI ,CUTOFF,DIFF2,DIFF2_DATA)

INCLUDE °’PARAHETER’

INTEGER N,N3
INTEGER LIST_VDW(O:HAX_LIST_VN2,HAX_ATOH)

REAL*8 ZAHYO(HAX_ATOH3)
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aaa

REAL*8
REAL*8

INTEGER
REAL*8

INTEGER
INTEGER

N3 =N

DO 241
DIF

KYORI (HAX_DATA_IDX)
CUTOFF (HAX_DATA_IDX)

DIFF2(0:HAX_DIFF2_LIST,HAX_ATOH3)
DIFF2_DATA(MAX_DIFF2_LIST,HAX_ATOH3)

I,1,K
L

* 3

0I=1, HAX_ATOH3
F2(0,I) = 0

2410 CONTINUE

#
2445

DO 2450
1000
DO 2

J

C

CONT

I=1,0H

1000
445 L =1 , LIST_VDW(0,I)
= LIST_VDW(L+HAX_LIST_VN,I)

ALL CALC_DIFF2_VDW_1
(I,J,ZAHYO,LIST_VDW,KYORI,CUTOFF ,DIFF2,DIFF2_DATA)
INUE

2450 CONTINUE

2499

RETURN
STOP
END

2501 SUBROUTINE CALC_DIFF2_VDW_1

#

(I

INCLUDE
INTEGER
INTEGER

REAL*8
REAL*8
REAL*8

INTEGER
REAL*8

REAL*8

INTEGER
INTEGER
INTEGER
REAL*8

REAL*8
REAL*8

REAL*8

REAL*8
REAL*8

I3 = Ix
J3 = Jx

GI(1)
GI(2)
GI(3)

GJ(1) =
GJ(2) =
GJ(3) =

DIST =

DO 2530
DO 2

,J,ZAHYO ,LIST_VDW,KYORI,CUTOFF ,DIFF2,DIFF2_DATA)

’PARAHETER’
IJ
LIST_YDW(O:HAX_LIST_VN2,HAX_ATOH)

ZAHYO(HAX_ATOH3)
KYORI (HAX_DATA_IDX)
CUTOFF (HAX_DATA_IDX)

DIFF2(0:HAX_DIFF2_LIST,HAX_ATOH3)
DIFF2_DATA(MAX_DIFF2_LIST,HAX_ATOH3)

VDW_FUNC

I3, 13

11,33

I3I1,J3J)
£y

THP
DATA

R,DIST

GI(3)
GJ(3)

3 -3
3 -3

ZAHYO(I3 + 1)
ZAHYO(I3 + 2)
ZAHYO(I3 + 3)

ZAHYO(J3 + 1)
ZAHYO(J3 2)
ZAHYO(J3 + 3)

+

CALC_R(GI,GJ)

Ir=1,3
520 JJ =1, 3

X = GI(ID)
Y = GJID)

GI(II) = X + EPS2
GJ(JJ) = Y + EPS2
R = CALC_R(GI,GJ)

THP = VDW_FUNC(R)
GI(II) = X - EPS2

GJ(JJ) = Y - EPS2
R = CALC_R(GI,GJ)
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THP = THP + VDW_FUNC(R)

GI(II) = X + EPS2
GJ(JJ) = Y - EPS2
R = CALC_R(GI,GJ)

THP = THP - VDW_FUNC(R)

GI(II) = X - EPS2
GJ(JJ) = Y + EPS2
R = CALC_R(GI,GJ)

THP = THP - VDW_FUNC(R)

DATA = THP / ( 8.0DO * EPS2 x EPS2 )

IF ( DIST .LT. (PRH_CR+PRH_CD) ) THEN

CALL ADD2_DIFF2( DATA
ELSE

CALL ADD_DIFF2( DATA
ENDIF

GI(II) = X

GJ(JI) =Y

2520 CONTINUE

2530 CONTINUE

RETURN
2599 STOP
END

2601 REAL*8 FUNCTION CALC_R(GI,GJ)

REAL*8 GI(3)
REAL*8 GJ(3)
REAL*8 SQRT

CALC_R = SQRT(
# (GI(1) - GI(1))*x¥2+
# (GI(2) - GI(2))*x2+
# (GI(3) - GJ(3))%%2 )
RETURN
2699 STOP
END

I3+I1

I3+I1

J3+J1J

J3+JJ

, DIFF2 ,DIFF2_DATA)

, DIFF2 ,DIFF2_DATA)

2701 SUBROUTINE HAKE_NEWKYORI(N,ZAHYO,LIST,KYORI,CUTOFF)
INCLUDE
INTEGER

REAL*8

INTEGER

REAL*8
REAL*8

DO 2710 I =

1

’PARAHETER’
N,I
ZAHYO(HAX_ATOH3)

LIST(O:HAX_LIST_N2,HAX_ATOHN)

KYORI (HAX_DATA_IDX)
CUTOFF (HAX_DATA_IDX)

, N

CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
2710 CONTINUE

RETURN
2799 STOP
END

2801 SUBROUTINE HAKE_NEWKYORIV(N,ZAHYO,LIST_VDW,KYORI,CUTOFF)
INCLUDE
INTEGER N,I
REAL*8 ZAHYO(HAX_ATOH3)
INTEGER LIST_VDW(O:HAX_LIST_VN2,HAX_ATOH)

REAL*8

’PARAHETER’

KYORI (HAX_DATA_IDX)

REAL*8 CUTOFF(HAX_DATA_IDX)

DO 2810 I =

1

, N

CALL RECALC_VDW(I,ZAHYO,LIST_VDW,KYORI,CUTOFF)
2810 CONTINUE

RETURN
2899 STOP
END

80
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B2 00000O0DOOOOOOODOODOOODOOOO

O000o0o0o0oooobO0o20b000000b00o0oboDboooDobOoooDoo
00000000 potential 00000000000 OODO
godad

irb5 inner.xyz outer.xyz >! kekka.xy

0000 0000000000000 0O /20 00lA0D0DDOOOOOODODO
0000000 1856A000 9280 0000
O0035000

DO 43 SL = -9280 , 9280 , 40
DO 42 DEG = -180 , 180 , 1

goodggo

Tersoff potential for Carbon system
(1998/Jun/8) By R.Hatsuo .

oo oo

PROGRAH innerrotate4
INCLUDE ’PARAHETER’

C 00000 FILEODDOO
CHARACTER*50 FILENAHE
CHARACTER*50 FILENAHE2

C oooooooo
INTEGER N
INTEGER N1
INTEGER N2

C loop OOO
INTEGER I,J,K

C ooooao
REAL*8 ZAHYO(HAX_ATOH3)
REAL*8 ZAHYO1(HAX_ATOH3)
REAL*8 ZAHYO2(HAX_ATOH3)

CHARACTER*8 AN(HAX_ATOHN)
CHARACTER*8 AN1(HMAX_ATOHN)
CHARACTER*8 AN2(HMAX_ATOHN)

REAL*8 ZL,ZH

C ooooooo
INTEGER LIST(O:HAX_LIST_N2,HAX_ATOHN)

C 0020000000
INTEGER LIST2(O0:HAX_LIST2_N,HAX_ATOHN)

C ooooooo
INTEGER LIST_VDW(O:HAX_LIST_VN2,HAX_ATOH)

C 0000000 IXx00000o0o0oooo
REAL*8 KYORI(HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)

REAL*8 DIFF1(HAX_ATOH3)
REAL*8 VELO(HAX_ATOH3)

C TERSOFF 0000
REAL*8 TERSOFF

C ooooooo
REAL*8 ENERGY , ENERGY_VDW

INTEGER IDX
INTEGER SL,DEG
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C FILEOOOODOO
CALL GETFILENAHE(FILENAHE,FILENAHE2)

open(unit=20,file=’md.10g’,ACCESS=’APPEND’,status=’01d’)
write(20,25) FILENAHE,FILENAHME2

25 format(ab0)

C Yz0ooooooo
CALL READ_ZAHYO(FILENAHE, N1, ZAHYO1,AN1)
CALL READ_ZAHYO(FILENAHE2, N2, ZAHYO2,AN2)

ZL = ZAHYO01(3)
ZH = ZAHYO01(3)

DO 26 I =3 , Nix¥3 , 3
IF ( ZAHYO1(I) .GT. ZH) THEN
ZH = ZAHYO01(I)
ENDIF
IF ( ZAHYO01(I) .LT. ZL) THEN
ZL = ZAHYO01(I)
ENDIF
26 CONTINUE

DO 27 I =3 , Nix3 , 3
ZAHYO1(I) = ZAHYO1(I) - ( ZH + ZL ) / 2
27 CONTINUE

ZL = ZAHY02(3)
ZH = ZAHY02(3)

DO 28 I =3, N2¥3 , 3
IF ( ZAHY02(I) .GT. ZH) THEN
ZH = ZAHY02(I)
ENDIF
IF ( ZAHY02(I) .LT. ZL) THEN
ZL = ZAHY02(I)
ENDIF
28 CONTINUE

DO 29 I =3, N2¥3 , 3
ZAHY02(I) = ZAHY02(I) - ( ZH + ZL ) /2
29 CONTINUE

DO 30 I =1 , Ni1x*3
ZAHYO(I) = ZAHYO1(I)
30 CONTINUE

DO 31 I =1, Nt
AN(CI) = AN1(I)
31 CONTINUE

DO 32 I =1 , N2#3
ZAHYO(N1%3+I) = ZAHYO2(I)

32 CONTINUE

DO 33 I =1, N2
AN(N1+I) = AN2(I)
33 CONTINUE

N = N1 + N2

DO 34 I =1, Nx3
ZAHY02(I) = ZAHYO(I)
34 CONTINUE

DO 35 J =1 , HAX_ATOH3
VELO(J) = 0.0D0
35 CONTINUE

IDX =0

DO 43 SL = -9280 , 9280 , 40
DO 42 DEG = -180 , 180 , 1

DO 36 I =1 , N*3
ZAHYO(I) = ZAHYO02(I)
36 CONTINUE

CALL INNERROTATE(N,ZAHYO,AN,-DEG)
C CALL INNERSLIDE(N,ZAHYO, AN, (SL-1000))
CALL INNERSLIDE(N,ZAHYO,AN,(SL))

CALL PRINT_ZAHYO(N,ZAHYO,O,ENERGY,DIFF1,AN)
STOP
D041 I=1,1
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IDX =0
C write(x,*) ’make_list’
C CALL HAKE_LIST(N,ZAHYO,LIST,KYORI,CUTOFF,IDX)
C pooooooooo
C write(*,*) ’make_list2’
C CALL HAKE_LIST2(N,LIST,LIST2)
C write(*,%) IDX
C write(*,*) ’make_list_vdw’
CALL HAKE_LIST_VYDW(N,ZAHYO,LIST_VYDW,KYORI,CUTOFF,IDX,LIST,
#LIST2, AN)
C write(*,%) IDX
C write(*,*) ’make_diff’
C CALL CALC_DIFF1(N,ZAHYO,LIST,KYORI,CUTOFF,DIFF1)
C write(*,*) ’make_diff_vdw’
C CALL CALC_DIFF1_VDW(N,ZAHYO,LIST_VDW,KYORI,CUTOFF,DIFF1)
C DO 39 J =1 , Nx3
C VELO(J) = VELO(J) + DIFF1(J) x CONV_VELO
C ZAHYO(J) = ZAHYO(J) + VELO(J)
C VELO(J) = VELO(J) x 0.9D0

39 CONTINUE
C ENERGY = TERSOFF(N,ZAHYO,LIST,KYORI,CUTOFF)

ENERGY_VDW = VDW(N,ZAHYO,LIST_VDW,KYORI,CUTOFF)
ENERGY = ENERGY_VDW /N2

C WRITE(*,*) ENERGY
WRITE(20,40) I , ENERGY
40 format (i6,£20.7)

41 CONTINUE
WRITE(*,44) DEG , 1.0DO % SL / 1000.0D0 , ENERGY
C CALL PRINT_ZAHYO(N,ZAHYO,0,ENERGY,DIFF1,AN)

C WRITE(#,%) SL , ENERGY

42 CONTINUE
43 CONTINUE
44 format(i4,f14.8,£20.10)
C 44 format(£f14.8,£20.10)
close(20)
STOP
END

¢ This program is for md to run on Dec Fortran

o

function IARGC()
IARGC=1
return
end
subroutine GETARG(i,c)
character*80 ¢
open(unit=53,file=’jobname.dat’,status=’0ld’)
read(53,45) ¢

45  format(a30)
close(53)
return
end

acacacacacaacaaacaaaa

subroutine FDATE(IDATE)
CHARACTER IDATEx24

call DATE(IDATE)

return

end

aacaaaaa

C 000000 FILE OODOOODO OoOO0O0o0O0
cc

101 SUBROUTINE GETFILENAHE(FILENAHE,FILENAHE2)

CHARACTER*50 FILENANE,FILENAHE2

INTEGER I

I = IARGC()

IF (I .NE. 2) then
WRITE(*,*) ’Usage: ir hoge.xyz hoge2.xyz’
GOTO 110

ENDIF
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110

121

122

123

124
125

128

129

130

CALL GETARG(1,FILENAHE)
CALL GETARG(2,FILENAHE2)

RETURN
END

SUBROUTINE GETARGU(LINE,I,ARGU)
CHARACTER*80 LINE

CHARACTER*80 DUH

CHARACTER*80 ARGU

INTEGER I

INTEGER J

INTEGER K

INTEGER lenline

DUH = LINE

do 128 K =1 , I
lenline = len(DUH)
DO 122 J = 1 , lenline

IF ( DUN(J:J) .EQ. > ’) THEN
GOTO 122

ENDIF

IF ( DUH(J:J) .EQ. char(9) ) THEN
GOTO 122

ENDIF

IF ( DUH(J:J) .EQ. char(0) ) THEN
GOTO 122

ENDIF

GOTO 123

CONTINUE

DUH = DUH(J:lenline)

lenline = len(DUH)
DO 124 J = 2 , lenline
IF ( DUH(J:J) .EQ. ’ ’) THEN
GOTO 125
ENDIF
IF ( DUH(J:J) .EQ. char(9) ) THEN
GOTO 125
ENDIF
IF ( DUH(J:J) .EQ. char(0) ) THEN
GOTO 125
ENDIF
CONTINUE
ARGU = DUH(1:J-1)

DUH=DUH (J:1lenline)
continue
RETURN
END

REAL*8 FUNCTION ATOR(STR)
CHARACTER*80 STR

INTEGER I

INTEGER J

INTEGER S

INTEGER D

INTEGER DCU

INTEGER*4 R

INTEGER*4 E

I=1
S =1
R=0
EC =0
E=0

IF ( STR(1:1) .EQ. ’+’) THEN

S =1
I=1+1
ENDIF
IF ( STR(1:1) .EQ. ’-’) THEN
S =-1
I=1+1
ENDIF

DO 140 J =1 , 80
IF ( STR(J:J) .EQ. ’>.” ) THEN
EC = 1
GOTO 140
ENDIF
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140

145

149

cC

cC

201

208
209

210

299

301

D = ICHAR(STR(J:J)) - ICHAR(’0’)

IF ( (D .GT. 9) .OR. (D .LT. 0)) THEN

GOTO 145

ENDIF

R=R x 10 + D

E =E + EC

IF ( R .GT. 9999999 ) THEN
GOTO 145

ENDIF

CONTINUE

ATOR = 1.0D0 % S * R / (10

RETURN

END

000000000 Dooooo

.ODO**E)

SUBROUTINE READ_ZAHYO(FILENANE, N, ZAHYO,AN)

INCLUDE °’PARAHETER’
CHARACTER*50 FILENAHE

oooooooooa
INTEGER N
INTEGER N3

FILE I0 O0OO00ODOOO
INTEGER IOCHECK

loop variable
INTEGER I

oooooooooa
REAL*8 ZAHYO(HAX_ATOH3)

oooooo
CHARACTER*8 AN(HAX_ATOH)

CHARACTER*80 LINE,ARGU

FILE OEPN

OPEN (60 ,FILE=FILENAHE,STATUS="0LD’,I0STAT=IOCHECK)

FILE OPEN O00OO00OODOO

IF ( IOCHECK ) THEN
WRITE(*,%) ’File open er:
GOTO 299

ENDIF

oooooooooa
READ(60,%) N

IF ( HAX_ATOH .LT. N ) THEN

ror.’

WRITE(*,%) "Too many atoms.'

GOTO 299
ENDIF

READ(60,209) LINE

format(£14.8)
format (a80)

000000 oooo
DO 210 I =1, N3, 3
READ(60,209) LINE

con

CLO
RET

CLO:
END

CALL GETARGU(LINE,1,ARGU)
AN(I/3+1)=ARGU

CALL GETARGU(LINE,2,ARGU)
ZAHYO(I) = ATOR(ARGU)
CALL GETARGU(LINE,3,ARGU)
ZAHYO(I+1) = ATOR(ARGU)
CALL GETARGU(LINE,4,ARGU)
ZAHYO(I+2) = ATOR(ARGU)

READ(60,%) AN(I/3+1) , ZAHYO(I)

TINUE

SE(60,STATUS=KEEP’)
URN

SE(60,STATUS="KEEP’)

,ZAHYO(I+1)

, ZAHYO (I+2)

SUBROUTINE PRINT_ZAHYO(N,ZAHYO,T,ENERGY,DIFF1,4N)
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C

aaaa

305
311

398
399
C

401

405

406

#

INCLUDE °’PARAHETER’
INTEGER N,N3

INTEGER T

REAL*8 ZAHYO(HAX_ATOH3)
CHARACTER*8 AN(HAX_ATOH)
REAL*8 DIFF1(HAX_ATOH3)
REAL*8 ENERGY

INTEGER I

WRITE(*,*) N
WRITE(*,%) ’TIHE=’,T+#TIHE_DIV#1.0D15,’fs ENERGY =’,ENERGY

DO 311 I =1, N3, 3
WRITE(*,305) AN(I/3+1) , ZAHYO(I) , ZAHYO(I+1) , ZAHYO(I+2)
, DIFF1(I) %10.0 , DIFF1(I+1) * 10.0 , DIFF1(I+2) * 10.0

FORHAT(a5,£12.7,£12.7,£12.7,£12.7,£12.7,£12.7)
CONTINUE

RETURN
END

000000 LIST 00000000000

LIST(O,N) : OODON OOODDOODO
LIST(I,N) : O0O0DON O I 000D0O0DDO000000
LIST(I+HAX_LIST_N ,N) : OO0OON O I DODOOOOOODO

SUBROUTINE HAKE_LIST(N,ZAHYO,LIST,KYORI,CUTOFF,IDX)
INCLUDE °’PARAHETER’
INTEGER N,N3

REAL*8 ZAHYO(HAX_ATOH3)

INTEGER LIST(O:HAX_LIST_N2,HAX_ATOHN)
REAL*8 KYORI(HAX_DATA_IDX)

REAL*8 CUTOFF(HAX_DATA_IDX)

INTEGER IDX

REAL*8 HAX_X,HAX_ Y HAX_ Z
REAL*8 HIN_X,HIN_Y,HIN_Z

INTEGER I,K,
INTEGER E,F,G
INTEGER L,H
INTEGER I3

INTEGER HESH_X,HESH_Y,HESH_Z
INTEGER TX,TY,TZ
INTEGER TI,TJ,TI3,TJ3

INTEGER HESH(O:HAX_HESH_ATOH,
0:MAX_HESH_X+1,0:HAX_MESH_Y+1,0:HAX_MESH_Z+1)

REAL*8 THP_R,THP_CUTOFF
REAL#*8 SIN
N3 =N %3

ooooooooao

DO 405 I = 1 , HAX_ATOH
LIST(0,I) = 0

CONTINUE

HESH 000000
DO 406 I = 0 , HAX_HESH_X+1
DO 406 J = 0 , HAX_HESH_Y+1
DO 406 K = 0 , HAX_HESH_Z+1
HESH(0,I,J,K) =0
CONTINUE

00000000 -00000000
HAX_X = ZAHYO(1)
HAX_Y = ZAHYO(2)
HAX_Z = ZAHYO(3)
HIN_X = ZAHYO(1)
HIN_Y = ZAHYO(2)
HIN_Z = ZAHYO(3)

DO 410 I =4 , N3 , 3

IF ( HAX_X .LT. ZAHYO(I) ) THEN
HAX_X = ZAHYO(I)

ENDIF

IF ( HAX_Y .LT. ZAHYO(I+1) ) THEN
HAX_Y = ZAHYO(I+1)

ENDIF
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IF ( HAX_Z .LT. ZAHYO(I+2) ) THEN
HAX_Z = ZAHYO(I+2)

ENDIF

IF ( MIN_X .GT. ZAHYO(I) ) THEN
HIN_X = ZAHYO(I)

ENDIF

IF ( MIN_Y .GT. ZAHYO(I+1) ) THEN
HIN_Y = ZAHYO(I+1)

ENDIF

IF ( HIN_Z .GT. ZAHYO(I+2) ) THEN
HIN_Z = ZAHYO(I+2)

ENDIF

410 CONTINUE

C 00O00O0o0o0O0O0O0D0OOO0O0O0OO0O0O0
C 0000O00o0O0000OOO0O0O0O00OO0O0O0
HESH_X = 1 + ( ( MAX_X - HIN_X ) / HESH_D )
HESH_Y = 1 + ( ( MAX_Y - HIN_Y ) / HESH_D )
HESH_Z = 1 + ( ( MAX_Z - HIN_Z ) / HESH_D )
C HESH 0000 00000000 STOP
IF ( MHESH_X .LE. HAX_HESH_X ) THEN
GOTO 415
ENDIF
IF ( HESH_Y .LE. HAX_HESH_Y ) THEN
GOTO 415
ENDIF
IF ( MHESH_Z .LE. HAX_HESH_Z ) THEN
GOTO 415
ENDIF
WRITE(*,%) ’HESH is overflow: MAX_HESH.’, HMESH_X,HESH_Y,HESH_Z
GOTO 499
C 000000 HESH O 00DOOOO0O0ODOO

415 DO 420 I =1 , N

I3=1%3-2

TX = 1 + ( ( ZAHYO(I3) - HIN_X ) / HMESH_D )

TY = 1 + ( ( ZAHYO(I3+1) - HMIN_Y ) / HESH_D

TZ = 1 + ( ( ZAHYO(I3+2) - HIN_Z ) / HESH_D )
C HESH 000000000 sTOP

IF ( HESH(O,TX,TY,TZ) .EQ. HAX_MESH_ATOM ) THEN
WRITE(*,%) *HESH_ATOHN is overflow: HAX_HESH_ATOH.’
GOTO 499

ENDIF

HESH(O,TX,TY,TZ) = HESH(O,TX,TY,TZ) + 1
HESH( HESH(O,TX,TY,TZ) , TX,TY,TZ) =1

420 CONTINUE

C HESH 000000 D00 (7 000D0O)
C 0 000000 OO0OLIsT 00oooo
C 0000 DOOoOoOoooOOoOoooooa

DO 443 I = 1 , HESH_X
DO 442 J = 1 , HESH_Y
DO 441 K = 1 , HESH_Z

IF ( HESH(0,I,J,K) .EQ. 0 ) THEN
GOTO 441
ENDIF

DO 433 E=1I-1 , I+1
DO 432 F=J-1, J+1
DO 431 G=K-1 , K+1

IF ( HESH(O0,E,F,G) .EQ. O ) THEN
GOTO 431
ENDIF

DO 425 L = 1 , HESH(0,I,J,K)
DO 424 H = 1 , HESH(0,E,F,G)

TI = HESH(L,I,J.K)
TJ = HESH(H,E,F,G)

IF ( TI .LE. TJ ) THEN
GOTO 424
ENDIF

TI3 = TIx3-2
TJ3 = TJx3-2

C oooooooo

THP_R =
# ( ( ZAHYO(TJ3 ) - ZAHYO(TI3 ) )#*¥2 +
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# ( ZAHYO(TJ3+1) - ZAHYO(TI3+1) )*¥2 +
# ( ZAHYO(TJ3+2) - ZAHYO(TI3+2) )*%2 )*%0.5d0
C
C 000000000 Dooooo
C
IF ( THP_R .GT. (PRH_CR + PRH_CD) ) THEN
GOTO 424
ENDIF
C LIST 000000000 sTop
IF ( ( LIST(0,TI) .EQ. MAX_LIST_N ) .OR.
# ( LIST(0,TJ) .EQ. MAX_LIST_N ) ) THEN
WRITE(*,%) °LIST_N is overflow: MHAX_LIST_N.’
GOTO 499
ENDIF
IDX = IDX + 1
KYORI(IDX) = THP_R
LIST(0,TI) = LIST(O,TI) + 1
LIST( LIST(O,TI) ,TI ) = IDX
LIST( LIST(O0,TI) + HAX_LIST_N ,TI ) = TJ
LIST(0,TJ) = LIST(0,TJ) + 1
LIST( LIST(0,TJ) ,TJ ) = IDX
LIST( LIST(0,TJ) + HAX_LIST_N ,TJ ) =TI
C
C oooooooooa
C

THP_CUTOFF = 1.0D0
IF ( THP_R .GE. ( PRH_CR - PRH_CD) ) THEN
THP_CUTOFF = 0.5D0 *
# ( 1.0D0 - SINC PI % ( THP_R - PRH_CR ) / (2.0DO * PRH_CD ) ))
ENDIF
IF ( THP_R .GE. ( PRH_CR + PRH_CD) ) THEN
THP_CUTOFF = 0.0D0
ENDIF

CUTOFF(IDX) = THP_CUTOFF

424 CONTINUE
425 CONTINUE

431 CONTINUE
432 CONTINUE
433 CONTINUE

441 CONTINUE
442 CONTINUE
443 CONTINUE

C DO 452 I =1 , N

4 write (¥,%) '--",1I

C DO 451 J =1 , LIST(0,I)

C WRITE(*,*) LIST(J + HAX_LIST_N , I)
C 451 CONTINUE

C 452 CONTINUE

469 RETURN

499 END

C

C i 000000 Tersoff JOODOD

501 REAL*8 FUNCTION TERSOFF_I(I,ZAHYO,LIST,KYORI,CUTOFF)
INCLUDE °’PARAHETER’
INTEGER I

REAL*8 ZAHYO(HAX_ATOH3)

INTEGER LIST(O:HAX_LIST_N2,HAX_ATOHN)
REAL*8 KYORI(HAX_DATA_IDX)

REAL*8 CUTOFF(HAX_DATA_IDX)

INTEGER J,K,L,H
INTEGER I3,J3,K3
INTEGER IDXJ,IDXK

REAL*8 G,GCOS
REAL*8 ZETA

REAL*8 I
REAL*8 J
REAL*8 K
REAL*8 B

_X,IY, I
R PR SR I
_XK_Y,K_

NN N

REAL#*8 EXP

REAL#*8 THP
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I3 = I%3 - 2

I_X = ZAHYO(I3)
I_Y = ZAHYO(I3+1)
I_Z = ZAHYO(I3+2)
THP = 0.0DO

DO 520 L = 1 , LIST(0,I)
IDXJ = LIST(L,I)
J = LIST(L+HAX_LIST_N,I)
J3 = J%3 - 2

J_X = ZAHY0(J3)

J_Y = ZAHYO(J3+1)

J_Z = ZAHYO(J3+2)

ZETA = 0.0DO

DO 510 H = 1 , LIST(0,I)
IF ( L .EQ. H ) THEN
GOTO 510
ENDIF

DXK = LIST(H,I)

= LIST(H+HAX_LIST_N,I)
3 = Kx3 - 2

X = ZAHYO(K3)

_Y = ZAHYO(K3+1)

_Z = ZAHYO(K3+2)

R oW oW W

IF ( KYORI(CIDXK) .EQ. 0.0DO ) THEN
WRITE(*,%) KYORI(IDXK) ,I,J.K
ENDIF

G = ( PRH_C * PRH_C ) / ( PRH_D * PRH_D ) -
# ( PRH_C * PRH_C ) /
# ( PRH_D % PRH_D + ( PRH_H - GCOS ) % (PRH_H - GCOS ))

G =PRH_A % ( G+ 1.0D0 )
ZETA = ZETA + CUTOFF (IDXK) * G

510 CONTINUE
Bij = ( 1.0 + ( ZETA )**( PRH_ETA) )**( -PRH_DELTA )

THP = THP +
CUTOFF (IDXJ) *
(
PRH_EA % EXP( -PRH_LUMBDA1 * KYORI(IDXJ) ) +
(PRH_EB) # Bij % EXP( -PRH_LUMBDA2 * KYORI(IDXJ))

520

599

601

610

699

701

P

)

CONTINUE

TERSOFF _

RETURN
END

REAL*8 FUNCTION TERSOFF (N,ZAHYO,LIST,KYORI,CUTOFF)

INCLUDE
INTEGER
INTEGER
REAL*8
INTEGER
REAL*8
REAL*8
REAL*8

TERSOFF

DO 610 I

TERSO.

CONTINUE

TERSOFF

RETURN
END

SUBROUTINE CALC_DIFF1(N,ZAHYO,LIST,KYORI,CUTOFF,DIFF1)

INCLUDE

I = THP

’PARAHETER’

I

n

ZAHYO(HAX_ATOH3)
LIST(O:HAX_LIST_N2,HAX_ATOHN)
KYORI (HAX_DATA_IDX)

CUTOFF (HAX_DATA_IDX)
TERSOFF_I

= 0.0D0
=1, 0N

FF = TERSOFF +
TERSOFF_I(I,ZAHYO,LIST,KYORI,CUTOFF)

= TERSOFF / 2.0D0

’PARAHETER’
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710

799

801

810

899

901

*

INTEGER N,N3

REAL*8 ZAHYO(HAX_ATOH3)

INTEGER LIST(O:HAX_LIST_N2,HAX_ATOHN)
REAL*8 KYORI(HAX_DATA_IDX)

REAL*8 CUTOFF(HAX_DATA_IDX)

REAL*8 DIFF1(HAX_ATOH3)
INTEGER I,ID3

REAL*8 ZAHYO_ORG
REAL*8 TERSOFF_LI

REAL#*8 THP

N3 =N %3

DO 710 I = 1 , N3
I3 =(I1+2)/3
ZAHYO_ORG = ZAHYO(I)

ZAHYO(I) = ZAHYO_ORG + EPS1
CALL RECALC(ID3,ZAHYO,LIST,KYORI,CUTOFF)
THP = TERSOFF_LI(ID3,ZAHYO,LIST,KYORI,CUTOFF)

ZAHYO(I) = ZAHYO_ORG - EPS1

CALL RECALC(ID3,ZAHYO,LIST,KYORI,CUTOFF)

THP = THP -
TERSOFF_LI(ID3,ZAHYO,LIST,KYORI, CUTOFF)

ZAHYO(I) = ZAHYO_ORG
CALL RECALC(ID3,ZAHYO,LIST,KYORI,CUTOFF)

THP = THP / ( 2.0 * EPS1 )
DIFF1(I) = -THP
CONTINUE

RETURN
END

SUBROUTINE RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
INCLUDE °’PARAHETER’

INTEGER I,I3

REAL*8 ZAHYO(HAX_ATOH3)

INTEGER LIST(O:HAX_LIST_N2,HAX_ATOHN)

REAL*8 KYORI(HAX_DATA_IDX)

REAL*8 CUTOFF(HAX_DATA_IDX)

INTEGER J,J3
INTEGER IDXJ
INTEGER H

REAL*8 THP_R
REAL*8 THP_CUTOFF

REAL#*8 SIN
REAL#*8 SQRT

I3 = I*3-2

DO 810 H = 1 , LIST(0,I)
IDXJ = LIST(H,I)
J = LIST(H+HAX_LIST_N,I)
IDXJ = LIST(H,I)

J3 = J*3-2
THP_R =
SQRT ( ( ZAHYO(J3) - ZAHYO(I3) )**2 +
( ZAHYO(J3+1) - ZAHYO(I3+1) )*%2 +
( ZAHYO(J3+2) - ZAHYO(I3+2) )*x2 )
KYORI(IDXJ) = THP_R
THP_CUTOFF = 1.0D0
IF ( THP_R .GE. ( PRH_CR - PRH_CD) ) THEN
THP_CUTOFF = 0.5D0 *
( 1.0D0 - SINC PI % ( THP_R - PRH_CR ) / (2.0DO * PRH_CD ) ))
ENDIF
IF ( THP_R .GE. ( PRH_CR + PRH_CD) ) THEN
THP_CUTOFF = 0.0D0O
ENDIF
CUTOFF(IDXJ) = THP_CUTOFF
CONTINUE
RETURN
END

REAL*8 FUNCTION TERSOFF_LI(I,ZAHYO,LIST,KYORI,CUTOFF)

90



OO0 BOO ODODOODOOO

INCLUDE
INTEGER
REAL*8
INTEGER
REAL*8
REAL*8
REAL*8
INTEGER

INTEGER
TERSOFF _|
DO 910 L

J =1L
TERSO.

910 CONTINUE

RETURN

999 END

1001 SUBROUTI

aaa

INCLUDE
INTEGER
INTEGER
INTEGER

INTEGER

DO 1010
LIST2

DO 10
L

’PARAHETER’

I

ZAHYO(HAX_ATOH3)
LIST(O:HAX_LIST_N2,HAX_ATOHN)
KYORI (HAX_DATA_IDX)

CUTOFF (HAX_DATA_IDX)
TERSOFF_I

L

LI = TERSOFF_I(I,ZAHYO,LIST,KYORI,CUTOFF)

=1, LIST(0,I)

IST(L + MAX_LIST_N,I)

FF_LI = TERSOFF_LI +
TERSOFF_I(J,ZAHYO,LIST,KYORI,CUTOFF)

NE MAKE_LIST2(N,LIST,LIST2)
’PARAHETER’

n
LIST(O:HAX_LIST_N2,HAX_ATOHN)
LIST2(0:HAX_LIST2_N,HAX_ATOHN)

I,J,K,L,0

I=1,0H

(0,I1) =0

05 J =1, LIST(0,I)
= LIST(J+HAX_LIST_N,I)

DO 1003 K = 1 , LIST(O,L)

H = LIST(K+HAX_LIST_N,L)

IF ( H .EQ. I) THEN
GOTO 1003

ENDIF

IF ( H .EQ. L) THEN
GOTO 1003

ENDIF

IF ( LIST2(0,I) .EQ. MAX_LIST2_N ) THEN
WRITE(*,*) *HAX_LIST2_N is overflow’
STOP

ENDIF

LIST2(0,I) = LIST2(0,I) + 1
LIST2(LIST2(0,I),I) = H

1003 CONTINUE
1005 CONTINUE
1010 CONTINUE

RETURN
1099 END

1101 SUBROUTINE CALC_DIFF2
#(N,ZAHYO,LIST,LIST2,KYORI,CUTOFF ,DIFF2,DIFF2_DATA)

INCLUDE

INTEGER
INTEGER
INTEGER

REAL*8
REAL*8
REAL*8

INTEGER
REAL*8

INTEGER
INTEGER

’PARAHETER’

N,N3
LIST(O:HAX_LIST_N2,HAX_ATOHN)
LIST2(0:HAX_LIST2_N,HAX_ATOHN)

ZAHYO(HAX_ATOH3)
KYORI (HAX_DATA_IDX)
CUTOFF (HAX_DATA_IDX)

DIFF2(0:HAX_DIFF2_LIST,HAX_ATOH3)
DIFF2_DATA(MAX_DIFF2_LIST,HAX_ATOH3)

I,1,K
L

N3 =N %3

DO 1110 I = 1 , HAX_ATOH3
DIFF2(0,I) = 0
1110 CONTINUE

DO 1150

CALL

I=1,0H

CALC_DIFF2_1
(I,ZAHYO,LIST,KYORI,CUTOFF,DIFF2,DIFF2_DATA)
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C 1000000on
DO 1145 L =1 , LIST(0,I)
J = LIST(L+HAX_LIST_N,I)

CALL CALC_DIFF2_2
# (I,J,ZAHYO,LIST,KYORI,CUTOFF ,DIFF2,DIFF2_DATA)
1145 CONTINUE

DO 1146 L = 1 , LIST2(0,I)
J = LIST2(L,I)
CALL CALC_DIFF2_3
# (I,J,ZAHYO,LIST,KYORI,CUTOFF ,DIFF2,DIFF2_DATA)
1146 CONTINUE

1150 CONTINUE

RETURN
1199 END

1201 SUBROUTINE CALC_DIFF2_1
# (I,ZAHYO,LIST,KYORI,CUTOFF,DIFF2,DIFF2_DATA)

INCLUDE °’PARAHETER’
INTEGER I
INTEGER LIST(O:HAX_LIST_N2,HAX_ATOHN)

REAL*8 ZAHYO(HAX_ATOH3)
REAL*8 KYORI(HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)

INTEGER DIFF2(O0:HAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DIFF2_DATA(MAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 TERSOFF_LI

INTEGER I3 , J3
INTEGER II,JJ
INTEGER I3II,J3JJ
REAL*8 X,Y

REAL#*8 THP
REAL*8 DATA

I3 = I%3 - 3

J3 = 13
DO 1230 II =1 , 3
DO 1220 JJ =1 , 3
I3II = I3 + II

J33J1 =313 + 1]

IF

I3II .NE. J3JJ ) THEN

X = ZAHYO(I3II)
Y = ZAHYO(J3JD)

ZAHYO(I3II) = X + EPS2

ZAHYO(J3JJ) = Y + EPS2

CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)

THP = TERSOFF_LI(I,ZAHYO,LIST,KYORI,CUTOFF)

ZAHYO(I3II) = X - EPS2
ZAHYO(J3JJ) = Y - EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
THP = THP +
# TERSOFF_LI(I,ZAHYO,LIST,KYORI,CUTOFF)

ZAHYO(I3II) = X + EPS2
ZAHYO(J3JJ) = Y - EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
THP = THP -
# TERSOFF_LI(I,ZAHYO,LIST,KYORI,CUTOFF)
ZAHYO(I3II) = X - EPS2
ZAHYO(J3JJ) = Y + EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
THP = THP -
# TERSOFF_LI(I,ZAHYO,LIST,KYORI,CUTOFF)
DATA = THP / ( 8.0DO * EPS2 x EPS2 )

ZAHYO(I3II) = X
ZAHYO(J3J)) =Y

ELSE
X = ZAHYO(I3II)

ZAHYO(I3II) = X + 2.0DO*EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
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1220
1230

1299

1301

1349

1351

1360

THP = TERSOFF_LI(I,ZAHYO,LIST,KYORI,CUTOFF)

ZAHYO(I3II) = X - 2.0DO*EPS2

CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)

THP = THP +
TERSOFF_LI(I,ZAHYO,LIST,KYORI,CUTOFF)

ZAHYO(I3II) = X + EPS2

CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)

THP = THP -
TERSOFF_LI(I,ZAHYO,LIST,KYORI,CUTOFF)

ZAHYO(I3II) = X - EPS2

CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)

THP = THP -
TERSOFF_LI(I,ZAHYO,LIST,KYORI,CUTOFF)

DATA = THP / ( 3.0DO * EPS2 x EPS2 )
ZAHYO(I3II) = X
ENDIF

CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL ADD_DIFF2( DATA , I3II , J3JJ , DIFF2 ,DIFF2_DATA)

CONTINUE
CONTINUE

RETURN
END

SUBROUTINE ADD_DIFF2( DATA , I3II , J3JJ , DIFF2 , DIFF2_DATA )
INCLUDE °’PARAHETER’

INTEGER I3II , J3JJ

INTEGER DIFF2(O0:HAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DIFF2_DATA(MAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DATA

IF ( DIFF2(0,I3II) .EQ. HAX_DIFF2_LIST ) THEN
WRITE(x,*) *HAX_DIFF2_LIST is overflow.’
GOTO 1349

ENDIF

DIFF2(0,I3II) = DIFF2(0,I3II) + 1
DIFF2(DIFF2(0,I3II),I3II) = J3]J
DIFF2_DATA(DIFF2(0,I3II),I3II) = DATA
WRITE(#,%) I3II , J3JJ, DATA

RETURN
END

SUBROUTINE ADD2_DIFF2( DATA , I3II , J3JJ , DIFF2 , DIFF2_DATA
INCLUDE °’PARAHETER’

INTEGER I3II , J3JJ

INTEGER DIFF2(O0:HAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DIFF2_DATA(MAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DATA

INTEGER I

DO 1360 I = 1 , DIFF2(0,I3II)
IF ( DIFF2(I,I3II) .EQ. J3JJ ) THEN
DIFF2_DATA(I,I3II) = DIFF2_DATA(I,I3II) + DATA
GOTO 1380
ENDIF
CONTINUE

WRITE(x,*) ’error ADD2_DIFF2’
GOTO 1399
WRITE(#,%) I3II , J3JJ, DATA

1380 RETURN
1399 END

1401 SUBROUTINE CALC_DIFF2_2

#

(I,J,ZAHYO,LIST,KYORI,CUTOFF ,DIFF2,DIFF2_DATA)

INCLUDE °’PARAHETER’

INTEGER I,J

INTEGER LIST(O:HAX_LIST_N2,HAX_ATOHN)
INTEGER LIST_IJ(O:HAX_LIST_IJ)

REAL*8 ZAHYO(HAX_ATOH3)
REAL*8 KYORI(HAX_DATA_IDX)
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REAL*8 CUTOFF(HAX_DATA_IDX)

INTEGER DIFF2(O0:HAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DIFF2_DATA(MAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 TERSOFF_I

REAL*8 TERSOFF_LIJ

INTEGER I3 , J3
INTEGER II,JJ
INTEGER I3II,J3JJ
REAL*8 X,Y

REAL#*8 THP
REAL*8 DATA

CALL HAKE_LIST_IJ( I,J,LIST_IJ,LIST )

I3 = I%3 - 3
J3 = J%3 - 3

DO 1430 II =1 , 3
DO 1420 JJ =1 , 3
I3II = I3 + II

J33J1 =313 + 1]

X = ZAHYO(I3II)
Y = ZAHYO(J3JD)

ZAHYO(I3II) = X + EPS2
ZAHYO(J3JJ) = Y + EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL RECALC(J,ZAHYO,LIST,KYORI,CUTOFF)
THP = TERSOFF_I(I,ZAHYO,LIST,KYORI,CUTOFF)
# +TERSOFF_I(J,ZAHYO,LIST ,KYORI,CUTOFF)
# +TERSOFF_LIJ(LIST_IJ,ZAHYO,LIST,KYORI,CUTOFF)

ZAHYO(I3II) = X - EPS2
ZAHYO(J3JJ) = Y - EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL RECALC(J,ZAHYO,LIST,KYORI,CUTOFF)

THP = THP
# +TERSOFF_I(I,ZAHYO,LIST,KYORI,CUTOFF)
# +TERSOFF_I(J,ZAHYO,LIST ,KYORI,CUTOFF)
# +TERSOFF_LIJ(LIST_IJ,ZAHYO,LIST,KYORI,CUTOFF)
ZAHYO(I3II) = X + EPS2
ZAHYO(J3JJ) = Y - EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL RECALC(J,ZAHYO,LIST,KYORI,CUTOFF)
THP = THP
# -TERSOFF_I(I,ZAHYO,LIST,KYORI,CUTOFF)
# -TERSOFF_I(J,ZAHYO,LIST ,KYORI,CUTOFF)
# -TERSOFF_LIJ(LIST_IJ,ZAHYO,LIST,KYORI,CUTOFF)
ZAHYO(I3II) = X - EPS2
ZAHYO(J3JJ) = Y + EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL RECALC(J,ZAHYO,LIST,KYORI,CUTOFF)
THP = THP
# -TERSOFF_I(I,ZAHYO,LIST,KYORI,CUTOFF)
# -TERSOFF_I(J,ZAHYO,LIST ,KYORI,CUTOFF)
# -TERSOFF_LIJ(LIST_IJ,ZAHYO,LIST,KYORI,CUTOFF)

DATA = THP / ( 8.0DO * EPS2 x EPS2 )

ZAHYO(I3II)
ZAHYO(J3J)) =Y

[
be

CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL RECALC(J,ZAHYO,LIST,KYORI,CUTOFF)

CALL ADD_DIFF2( DATA , I3II , J3JJ , DIFF2 ,DIFF2_DATA)
1420 CONTINUE
1430 CONTINUE

RETURN
1499 END

1501 SUBROUTINE HAKE_LIST_IJ( I,J,LIST_IJ,LIST )
INCLUDE °’PARAHETER’

INTEGER I,J
INTEGER LIST_IJ(O:HAX_LIST_IJ)
INTEGER LIST(O:HAX_LIST_N2,HAX_ATOHN)

INTEGER L,H
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LIST_IJ(0) = 0

DO 1540 L = 1 , LIST(0,I)
DO 1530 H = 1 , LIST(0,])
IF ( LIST(L+HAX_LIST_N,I)

\NE. LIST(M+HAX_LIST_N,J)) THEN
GOTO 1530
ENDIF
IF ( LIST_IJ(0) .EQ. MAX_LIST_IJ ) THEN
WRITE(*,*) ’HAX_LIST_IJ is overflow.’
ENDIF
LIST_IJ(0) = LIST_IJ(0) + 1
LIST_IJ(LIST_IJ(0)) = LIST(L+MAX_LIST_N,I)
CONTINUE
CONTINUE
RETURN
END

REAL*8 FUNCTION TERSOFF_LIJ(LIST_IJ,ZAHYO,LIST,KYORI,CUTOFF)
INCLUDE °’PARAHETER’

INTEGER LIST_IJ(O:HAX_LIST_IJ)

REAL*8 ZAHYO(HAX_ATOH3)

INTEGER LIST(O:HAX_LIST_N2,HAX_ATOHN)

REAL*8 KYORI(HAX_DATA_IDX)

REAL*8 CUTOFF(HAX_DATA_IDX)

REAL*8 TERSOFF_I

INTEGER I,L

TERSOFF_LIJ = 0.0DO

DO 1610 L = 1 , LIST_IJ(0)
I = LIST_IJ(L)

TERSOFF_LIJ = TERSOFF_LIJ +
TERSOFF_I(I,ZAHYO,LIST,KYORI,CUTOFF)

CONTINUE
RETURN
END

SUBROUTINE CALC_DIFF2_3
(I,J,ZAHYO,LIST,KYORI,CUTOFF ,DIFF2,DIFF2_DATA)

INCLUDE °’PARAHETER’

INTEGER I,J

INTEGER LIST(O:HAX_LIST_N2,HAX_ATOHN)
INTEGER LIST_IJ(O:HAX_LIST_IJ)

REAL*8 ZAHYO(HAX_ATOH3)
REAL*8 KYORI(HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)

INTEGER DIFF2(O0:HAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DIFF2_DATA(MAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 TERSOFF_LIJ

INTEGER I3 , J3
INTEGER II,JJ
INTEGER I3II,J3JJ
REAL*8 X,Y

REAL#*8 THP
REAL*8 DATA

CALL HAKE_LIST_IJ( I,J,LIST_IJ,LIST )

I3 = I%3 - 3
J3 = J%3 - 3

DO 1730 II =1 , 3
DO 1720 JJ =1 , 3
I3II = I3 + II

J33J1 =313 + 1]

X = ZAHYO(I3II)
Y = ZAHYO(J3JJ)

ZAHYO(I3II) = X + EPS2
ZAHYO(J3JJ) = Y + EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL RECALC(J,ZAHYO,LIST,KYORI,CUTOFF)
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1720
1730

1799

1801

1810

1815

THP = TERSOFF_LIJ(LIST_IJ,ZAHYO,LIST,KYORI,CUTOFF)

ZAHYO(I3II) = X - EPS2
ZAHYO(J3JJ) = Y - EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL RECALC(J,ZAHYO,LIST,KYORI,CUTOFF)

THP = THP
+TERSOFF_LIJ(LIST_IJ,ZAHYO,LIST,KYORI,CUTOFF)
ZAHYO(I3II) = X + EPS2
ZAHYO(J3JJ) = Y - EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL RECALC(J,ZAHYO,LIST,KYORI,CUTOFF)
THP = THP
-TERSOFF_LIJ(LIST_IJ,ZAHYO,LIST,KYORI,CUTOFF)
ZAHYO(I3II) = X - EPS2
ZAHYO(J3JJ) = Y + EPS2
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL RECALC(J,ZAHYO,LIST,KYORI,CUTOFF)
THP = THP
-TERSOFF_LIJ(LIST_IJ,ZAHYO,LIST,KYORI,CUTOFF)
DATA = THP / ( 8.0D0 * EPS2 x EPS2 )
ZAHYO(I3II) = X
ZAHYO(J3J)) =Y
CALL RECALC(I,ZAHYO,LIST,KYORI,CUTOFF)
CALL RECALC(J,ZAHYO,LIST,KYORI,CUTOFF)
CALL ADD_DIFF2( DATA , I3II , J3JJ , DIFF2 ,DIFF2_DATA)
CONTINUE
CONTINUE
RETURN
END
SUBROUTINE CONJGRAD(N,ZAHYO,DIFF1,DIFF2,DIFF2_DATA)
INCLUDE °’PARAHETER’
INTEGER N
REAL*8 ZAHYO(HAX_ATOH3)
REAL*8 DIFF1(HAX_ATOH3)
INTEGER DIFF2(O0:HAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DIFF2_DATA(MAX_DIFF2_LIST,HAX_ATOH3)
INTEGER N3
REAL*8 P(MAX_ATOH3)
REAL*8 R(MAX_ATOHN3)
REAL*8 AP(MAX_ATOH3)
REAL*8 X (MAX_ATOH3)
REAL*8 NORH_R2,NORH_R2_
REAL*8 PAP
REAL*8 &
REAL*8 C
INTEGER I,J,K
INTEGER L
N3 = N*x3
NORH_R2 = 0.0DO
DO 1810 I =1 , N3
X(I) = 0.0DO
R(I) = DIFF1(I)
P(I) = DIFF1(I)
NORH_R2 = NORH_R2 + R(I) % R(I)
CONTINUE
WRITE(#%,%) O,NORH_R2
DO 1860 K = 1 , N3
IF ( NORH_R2 .LT. 1.0D-6 ) THEN
GOTO 1865
ENDIF

DO

1820 I =1 , N3
AP(I) = 0.0DO
DO 1815 L = 1 , DIFF2(0,I)
J = DIFF2(L,I)
AP(I) = AP(I) + P(J) % DIFF2_DATA(L,I)

CONTINUE
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1820 CONTINUE

PAP = 0.0DO
DO 1830 I =1 , N3
PAP = PAP + P(I) % AP(I)
1830 CONTINUE

A = NORHM_R2 / PAP
C WRITE(*,*) ’4=’,4

NORH_R2_ = 0.0DO

DO 1840 I =1 , N3
X(I) = X(I) + & % P(I)
R(I) = R(I) - & % AP(I)
NORH_R2_ = NORH_R2_ + R(I) * R(I)
1840 CONTINUE

C WRITE(#,%) K,NORH_R2_

C = NORH_R2_ / NORH_R2
IF ( ¢ .GT. 1.0D0 ) THEN

GOTO 1865
ENDIF
NORH_R2 = NORH_R2_
DO 1850 I =1 , N3
P(I) = R(I) + C % P(I)

1850 CONTINUE
1860 CONTINUE
1865 DO 1870 I

ZAHYO(I)
1870 CONTINUE

1, N3
= ZAHYO(I) + X(I)

RETURN
1899 END

1901 SUBROUTINE HAKE_LIST_VDW(N,ZAHYO,LIST_VDW,KYORI,CUTOFF,IDX
#,LIST,LIST2,AN)
INCLUDE °’PARAHETER’
INTEGER N,N3

REAL*8 ZAHYO(HAX_ATOH3)

CHARACTER*8 AN(HAX_ATOHN)

INTEGER LIST_VDW(O:HAX_LIST_VN2,HAX_ATOH)
REAL*8 KYORI(HAX_DATA_IDX)

REAL*8 CUTOFF(HAX_DATA_IDX)

INTEGER IDX

INTEGER LIST(O:HAX_LIST_N2,HAX_ATOHN)
INTEGER LIST2(O0:HAX_LIST2_N,HAX_ATOHN)

REAL*8 HAX_X,HAX_ Y HAX_ Z
REAL*8 HIN_X,HIN_Y,HIN_Z

INTEGER I,K,

INTEGER E,F,G

INTEGER L,H

INTEGER I3

INTEGER HESH_X,HESH_Y,HESH_Z
INTEGER TX,TY,TZ

INTEGER TI,TJ,TI3,TJ3

INTEGER HESH_V(O:HAX_HESH_V_ATOH,
# 0:MAX_HESH_V_X+1,0:HAX_HESH_V_Y+1,0:HAX_HESH_V_Z+1)

REAL*8 THP_R,THP_CUTOFF

C REAL*8 SIN
N3 =N %3
C ooooooooao

DO 1905 I = 1 , HAX_ATOH
LIST_YDW(0,I) = 0
1905 CONTINUE

C HESH 000000
DO 1906 I = 0 , HAX_HESH_V_X+1
DO 1906 J = 0 , HAX_HMESH_V_Y+1
DO 1906 K = 0 , HAX_HMESH_V_Z+1
HESH_V(0,I,J,K) =0
1906 CONTINUE

C 00000000 -00000000
HAX_X = ZAHYO(1)
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C

C

C

aQ

HAX_Y = ZAHY!
HAX_Z = ZAHY!
HIN_X = ZAHY!
HIN_Y = ZAHY!
HIN_Z = ZAHY!
DO 1910 I =

0(2)
0(3)
0(1)
0(2)
0(3)

IF ( HAX_X .LT. ZAHYO(I) ) THEN

HAX_X

ENDIF

IF ( HAX_
HAX_Y

ENDIF

IF ( HAX_
HAX_Z

ENDIF

IF ( HIN_
HIN_X

ENDIF

IF ( HIN_
HIN_Y

ENDIF

IF ( HIN_
HIN_Z

ENDIF

1910 CONTINUE

= ZAHYO(I)

Y .LT. ZAHYO(I+1) ) THEN

= ZAHYO(I+1)

Z .LT. ZAHYO(I+2) ) THEN

= ZAHYO(I+2)

X .GT. ZAHYO(I) ) THEN

= ZAHYO(I)

Y .GT. ZAHYO(I+1) ) THEN

= ZAHYO(I+1)

Z .GT. ZAHYO(I+2) ) THEN

= ZAHYO(I+2)

00O00O0o0o0O0O0O0D0OOO0O0O0OO0O0O0
0000O00o0O0000OOO0O0O0O00OO0O0O0

HESH_X =
HESH_Y
HESH_Z

1
[
+ + +

HESH 0000

IF ( HESH_X
GOTO 1915

ENDIF

IF ( HESH_Y
GOTO 1915

ENDIF

IF ( HESH_Z
GOTO 1915

ENDIF

( ( HAX_X - MIN_X ) / HESH_D_VDW )
( ( HAX_Y - MIN_Y ) / HESH_D_VDW )
( ( HAX_Z - MIN_Z ) / HESH_D_VDW )

gooooooo stop
.LE. HAX_MESH_V_X ) THEN

.LE. HAX_MESH_V_Y ) THEN

.LE. HAX_MESH_V_Z ) THEN

WRITE(*,*) °HESH is overflow-vdw: MAX_V_HESH.’,

GOTO 1999

HESH_X ,HESH_Y ,HESH_Z

000000 HESH O 00DOOOO0O0ODOO
1915 DO 1920 I = 1 , N
I3=1%3-2
TX = 1 + ( ( ZAHYO(I3) - HIN_X ) / HESH_D_VDW )
TY = 1 + ( ( ZAHYO(I3+1) - HIN_Y ) / HESH_D_VDW
TZ = 1 + ( ( ZAHYO(I3+2) - HIN_Z ) / HESH_D_VDW

HESH 000000000 sTOP
IF ( HESH_V(0,TX,TY,TZ) .GE. HAX_HESH_V_ATOH )

WRITE(
GOTO 1
ENDIF

HESH_V (0,

*,%) ’HESH_V_ATOH is overflow:

999

TX,TY,TZ) =

HESH_V(O,TX,TY,TZ) + 1

HESH_V( HESH_V(O0,TX,TY,TZ) , TX,TY,TZ) =1

1920 CONTINUE

HESH 000000 D00 (7 000D0O)
0 000000 OO0OLIsT 00oooo
0000 DOOoOoOoooOOoOoooooa

DO 1943 I =
DO 1942 J
DO 194

1 , HESH_X

=1, HESH_Y
1K =1, HESH_Z

IF ( HESH_V(0,I,J,K) .EQ. 0 ) THEN

END

DO

THEN

HAX_HESH_V_ATOH.’

GOTO 1941
IF
1933 E=I1-1 , I +1
DO 1932 F=J -1, J+ 1
DO 1931 G =K -1 , K+ 1
IF ( HESH_V(0,E,F,G) .EQ. 0 ) THEN
GOTO 1931
ENDIF

DO 1925 L =1 , HESH_V(0,I,J,K)
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DO 1924 H = 1 , HESH_V(0,E,F,G)

TI = HESH_V(L,I,J,K)
TJ = HESH_V(N,E,F,G)

IF ( TI .LE. TJ ) THEN
GOTO 1924
ENDIF

TI3 = TIx3-2
TJ3 = TJx3-2

C
C oooooooo
C
THP_R =
# ( ( ZAHYO(TJ3 ) - ZAHYO(TI3 ) )#*¥2 +
# ( ZAHYO(TJ3+1) - ZAHYO(TI3+1) )*¥2 +
# ( ZAHYO(TJ3+2) - ZAHYO(TI3+2) )*%2 )*%0.5d0
C
C oooooooooa
IF ( THP_R .GT. (PRH_VCR2 + PRH_VCD2) ) THEN
GOTO 1924
ENDIF
IF ( THP_R .LT. (PRH_VCR - PRH_VCD) ) THEN
GOTO 1924
ENDIF
C 0oooooo oo
IF ( AN(TI) .EQ. AN(TJ) ) THEN
GOTO 1924
ENDIF

1922 CONTINUE

C LIST 000000000 sTop

IF ( ( LIST_VDW(O,TI) .GE. HAX_LIST_VN ) .OR.

# ( LIST_VDW(O0,TJ) .GE. HAX_LIST_VN ) ) THEN
WRITE(*,%) *LIST_VN is overflow: MAX_LIST_VN.’
GOTO 1999

ENDIF

IDX = IDX + 1
KYORI(IDX) = THP_R

LIST_YDW(O,TI) = LIST_VDW(O,TI) + 1
LIST_YDW( LIST_VDW(O,TI) ,TI ) = IDX
LIST_YDW( LIST_VDW(O,TI) + MAX_LIST_VN ,TI ) = TJ

LIST_YDW(0,TJ) = LIST_VDW(O,TJ) + 1
LIST_YDW( LIST_VDW(O0,TJ) ,TJ ) = IDX
LIST_YDW( LIST_VDW(O,TJ) + HAX_LIST_VN ,TJ ) =TI

aQ

oooooooooa

THP_CUTOFF = 0.0D0
IF ( THP_R .GE. ( PRH_VCR - PRH_VCD) ) THEN
THP_CUTOFF = 0.5D0 *
# ( 1.0D0 + SINC PI % ( THP_R - PRH_VCR ) / (2.0DO % PRH_VYCD ) ))
ENDIF
IF ( THP_R .GE. ( PRH_VCR + PRH_VCD) ) THEN
THP_CUTOFF = 1.0D0
ENDIF
IF ( THP_R .GE. ( PRH_VCR2 - PRH_VCD2) ) THEN
THP_CUTOFF = 0.5D0 *
# (1.0D0 - SINC PI * (THP_R - PRH_VCR2 )/(2.0DO * PRH_VCD2 ) ))
ENDIF
IF ( THP_R .GE. ( PRH_VCR2 + PRH_VCD2) ) THEN
THP_CUTOFF = 0.0D0
ENDIF

CUTOFF(IDX) = THP_CUTOFF

1924 CONTINUE
1925 CONTINUE

1931 CONTINUE
1932 CONTINUE
1933 CONTINUE

1941 CONTINUE
1942 CONTINUE
1943 CONTINUE
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1969 RETURN
1999 END

aaa

I 0000 Van Der Waals OODOODOI

2001 REAL*8 FUNCTION VDW_I(I,ZAHYO,LIST_VDW,KYORI,CUTOFF)

2010

2049

2050

S.
S.

aaaa

aaaa

R2 =
R =

2099

INCLUDE °’PARAHETER’
INTEGER I

REAL*8 ZAHYO(HAX_ATOH3)

INTEGER LIST_VDW(O:HAX_LIST_VN2,HAX_ATOH)
REAL*8 KYORI(HAX_DATA_IDX)

REAL*8 CUTOFF(HAX_DATA_IDX)

REAL*8 R,U
REAL#*8 VDW_FUNC

INTEGER L,IDXJ
U = 0.0D0

DO 2010 L = 1 , LIST_YDW(0,I)
IDXJ = LIST_VDW(L,I)
R = KYORI(IDXJ)
U = U + CUTOFF(IDXJ) % VDW_FUNC(R)

U = U + YDW_FUNC(R)

CONTINUE

VDW_I = U
write(x,*) "VDW' , U , R

RETURN
END

REAL*8 FUNCTION VDW_FUNC(R)
INCLUDE °’PARAHETER’

REAL*8 R,SR,SR2,S5R6,SR12
REAL*8 THP_CUTOFF

REAL*8 SIN

SR = 3.407D0 / R

THP_CUTOFF = 0.0D0
IF ( R .GE. ( PRH_VCR - PRH_VCD) ) THEN

THP_CUTOFF = 0.5D0 *
# (1.0D0 + SINC PI x ( R - PRH_VCR ) / (2.0DO % PRH_VCD ) )
ENDIF
IF ( R .GE. ( PRH_VCR + PRH_VCD) ) THEN
THP_CUTOFF = 1.0D0
ENDIF
IF ( R .GE. ( PRH_VCR2 - PRH_VCD2) ) THEN
THP_CUTOFF = 0.5D0 *
# ( 1.0D0 - SINC PI # ( R - PRH_VCR2 ) / (2.0D0 * PRH_VCD2 ) ))
ENDIF
IF ( R .GE. ( PRH_VCR2 + PRH_VCD2) ) THEN
THP_CUTOFF = 0.0D0
ENDIF

SRxSR
SR2*SR2*SR2
SR12 = SRE*SRé

VDW_FUNC =
# 4.0D0 * 0.002964D0 *
# ( SR12 - SR6 )
# * THP_CUTOFF
VDW_FUNC =
# ( 4.0D0 x 0.002964D0 *
# ( SR¥%12.0D0 - SR**6.0D0 ) + 0.000065290386570836
# * THP_CUTOFF
VDW_FUNC =
# ( 4.0D0 x 0.002964D0 *
# ( SR¥¥12.0D0 - SR**6.0D0 ) + -0.00000156405494 )
# * THP_CUTOFF
RETURN
END
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2101 SUBROUTINE CALC_DIFF1_VDW(N,ZAHYO,LIST_VDW,KYORI,CUTOFF,DIFF1)
INCLUDE °’PARAHETER’
INTEGER N,N3
REAL*8 ZAHYO(HAX_ATOH3)
INTEGER LIST_VDW(O:HAX_LIST_VN2,HAX_ATOH)
REAL*8 KYORI(HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)

REAL*8 DIFF1(HAX_ATOH3)
INTEGER I,ID3

REAL*8 ZAHYO_ORG
REAL*8 VDW_I

REAL#*8 THP

N3 =N %3

DO 2110 I =1 , N3

I3 =(I1+2)/3
ZAHYO_ORG = ZAHYO(I)

ZAHYO(I) = ZAHYO_ORG + EPS1
CALL RECALC_VDW(ID3,ZAHYO,LIST_VDW,KYORI,CUTOFF)
THP = VDW_I(ID3,ZAHYO,LIST_VYDW,KYORI,CUTOFF)

ZAHYO(I) = ZAHYO_ORG - EPS1
CALL RECALC_VDW(ID3,ZAHYO,LIST_VDW,KYORI,CUTOFF)
THP = THP -

# VDW_I(ID3,ZAHYO,LIST_VYDW,KYORI,CUTOFF)

ZAHYO(I) = ZAHYO_ORG
CALL RECALC_VDW(ID3,ZAHYO,LIST_VDW,KYORI,CUTOFF)

THP = THP / ( 2.0 * EPS1 )

C WRITE(*,*) , I , THP
DIFF1(I) = DIFF1(I) - THP
C DIFF1(I) = - THP

2110 CONTINUE

RETURN
2199 END
2201 SUBROUTINE RECALC_VDW(I,ZAHYO,LIST_VDW,KYORI,CUTOFF)
INCLUDE °’PARAHETER’
INTEGER I,I3
REAL*8 ZAHYO(HAX_ATOH3)
INTEGER LIST_VDW(O:HAX_LIST_VN2,HAX_ATOH)
REAL*8 KYORI(HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)

INTEGER J,J3
INTEGER IDXJ
INTEGER H

REAL*8 THP_R
REAL*8 THP_CUTOFF

C REAL*8 SIN
REAL#*8 SQRT

I3 = I*3-2

DO 2210 H = 1 , LIST_YDW(0,I)
IDXJ = LIST_VDW(H,I)
J = LIST_VDW(H+HAX_LIST_VN,I)

J3 = J*3-2

THP_R =
# SQRT ( ( ZAHYO(J3) - ZAHYO(I3) )**2 +
( ZAHYO(J3+1) - ZAHYO(I3+1) )*%2 +
# ( ZAHYO(J3+2) - ZAHYO(I3+2) )*x2 )

*

KYORI(IDXJ) = THP_R

THP_CUTOFF = 1.0D0

IF ( THP_R .GE. ( PRH_CR - PRH_CD) ) THEN

THP_CUTOFF = 0.5D0 *

# ( 1.0D0 - SINC PI % ( THP_R - PRH_CR ) / (2.0DO % PRH_CD ) ))

ENDIF

IF ( THP_R .GE. ( PRH_CR + PRH_CD) ) THEN

THP_CUTOFF = 0.0D0O
ENDIF

aacacaacaaa

CUTOFF(IDXJ) = THP_CUTOFF
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aaa

2210 CONTINUE

RETURN
2299 END

2301 REAL*8 FUNCTION VDW(N,ZAHYO,LIST_VDW,KYORI,CUTOFF)
INCLUDE °’PARAHETER’
INTEGER I
INTEGER N
REAL*8 ZAHYO(HAX_ATOH3)
INTEGER LIST_VDW(O:HAX_LIST_VN2,HAX_ATOH)
REAL*8 KYORI(HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)
REAL*8 VDW_I

VDW = 0.0DO

DO 2310 I =1 , N
VDW = VDW +
# VDW_I(I,ZAHYO,LIST_VDW,KYORI,CUTOFF)

2310 CONTINUE
VDW = VDW / 2.0D0

RETURN
2399 END

2401 SUBROUTINE CALC_DIFF2_VDW
#(N,ZAHYO,LIST_VDW,KYORI ,CUTOFF,DIFF2,DIFF2_DATA)
INCLUDE °’PARAHETER’

INTEGER N,N3
INTEGER LIST_VDW(O:HAX_LIST_VN2,HAX_ATOH)

REAL*8 ZAHYO(HAX_ATOH3)
REAL*8 KYORI(HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)

INTEGER DIFF2(O0:HAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DIFF2_DATA(MAX_DIFF2_LIST,HAX_ATOH3)

INTEGER I,J,K
INTEGER L

N3 =N %3

DO 2410 I = 1 , HAX_ATOH3
DIFF2(0,I) = 0
2410 CONTINUE

DO 2450 I =1 , N

100000000
DO 2445 L =1 , LIST_VDW(O,I)
J = LIST_VDW(L+HAX_LIST_VN,I)

CALL CALC_DIFF2_¥DW_1
# (I,J,ZAHYO,LIST_VDW,KYORI,CUTOFF ,DIFF2,DIFF2_DATA)
2445 CONTINUE

2450 CONTINUE

RETURN
2499 END

2501 SUBROUTINE CALC_DIFF2_VDW_1
# (I,J,ZAHYO,LIST_VDW,KYORI,CUTOFF ,DIFF2,DIFF2_DATA)

INCLUDE °’PARAHETER’
INTEGER I,J
INTEGER LIST_VDW(O:HAX_LIST_VN2,HAX_ATOH)

REAL*8 ZAHYO(HAX_ATOH3)
REAL*8 KYORI(HAX_DATA_IDX)
REAL*8 CUTOFF(HAX_DATA_IDX)

INTEGER DIFF2(O0:HAX_DIFF2_LIST,HAX_ATOH3)
REAL*8 DIFF2_DATA(MAX_DIFF2_LIST,HAX_ATOH3)

REAL*8 VDW_FUNC
INTEGER I3 , J3
INTEGER II,JJ
INTEGER I3II,J3JJ
REAL*8 X,Y

REAL#*8 THP
REAL*8 DATA

REAL*8 R,DIST
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2520
2530

2599

2601

2699

REAL*8 GI(3)
REAL*8 GJ(3)

I3 = I%3 - 3
J3 = J%3 - 3

GI(1) = ZAHYO(I3 + 1)
GI(2) = ZAHYO(I3 + 2)
GI(3) = ZAHYO(I3 + 3)

GJ(1) = ZAHYO(J3 + 1)
GJ(2) = ZAHYO(J3 2)
GJ(3) = ZAHYO(J3 + 3)

+

DIST = CALC_R(GI,GJ)

DO 2830 II =1 , 3
DO 2520 JJ =1, 3

X = GI(ID)
Y = GJID)

GI(II) = X + EPS2
GJ(JJ) = Y + EPS2
R = CALC_R(GI,GJ)

THP = VDW_FUNC(R)
GI(II) = X - EPS2

GJ(JJ) = Y - EPS2
R = CALC_R(GI,GJ)

THP = THP + VDW_FUNC(R)

GI(II) = X + EPS2
GJ(JJ) = Y - EPS2
R = CALC_R(GI,GJ)

THP = THP - VDW_FUNC(R)

GI(II) = X - EPS2
GJ(JJ) = Y + EPS2
R = CALC_R(GI,GJ)

THP = THP - VDW_FUNC(R)

DATA = THP / ( 8.0DO * EPS2 x EPS2 )

IF ( R .LT. (PRH_VCR2+PRH_VCD2) ) THEN

CALL ADD2_DIFF2( DATA

ELSE
CALL ADD_DIFF2( DATA
ENDIF
GI(II) = X
GJ(JI) =Y
CONTINUE

CONTINUE

RETURN

END

REAL*8 FUNCTION CALC_R(GI,GJ)

REAL*8 GI(3)
REAL*8 GJ(3)
REAL*8 SQRT

CALC_R = SQRT(
(GI(1) - GI(1))*x¥2+
(GI(2) - GI(2))*x2+
(GI(3) - GJ(3))%%2 )

RETURN
END

I3+I1

I3+I1

3401 SUBROUTINE INNERROTATE(N,ZAHYO,AN,DEG)

J3+J1J

J3+JJ

, DIFF2 ,DIFF2_DATA)

, DIFF2 ,DIFF2_DATA)
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3450

3499

3501

3550

INCLUDE °’PARAHETER’
INTEGER N

loop variable
INTEGER I,DEG

oooooooooa

CHARACTER*8 AN(HAX_ATOH)
REAL*8 ZAHYO(HAX_ATOH3)

REAL*8 DEGREE

REAL*8 SIN,COS

REAL#*8 X,Y

REAL*8 A11,A12,421,422

A11 = COS(2.0%PI * DEG / 360.0)
412 = SIN(2.0%PI * DEG / 360.0)
421 = -A12

422 = A11

DO 3450 I =1 , N
IF ( AN(I) .EQ. °C’> ) THEN

X = ZAHYO(I¥3-2)
Y = ZAHYO(I*3-1)

ZAHYO(I#3-2) = A11%X + A12%Y
ZAHYO(I#3-1) = A21%X + A22%Y

ENDIF
CONTINUE
RETURN
END
SUBROUTINE INNERSLIDE(N,ZAHYO,AN,SL)
INCLUDE °’PARAHETER’
loop variable
INTEGER I,SL
INTEGER N
oooooooooo
CHARACTER*8 AN(HAX_ATOH)
REAL*8 ZAHYO(HAX_ATOH3)
REAL*8 SLIDE
SLIDE = SL / 1000.0

DO 3850 I =1 , N
IF ( AN(I) .EQ. °C1’> ) THEN

ZAHYO(I#3) = ZAHYO(I*3) + 1.0DO * SLIDE

ENDIF

CONTINUE

RETURN
END
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B.3 000000ODOOOOODOODOOOOO

dodouodoon gogo oo nououoooobg
000000 fortran D000 0OOOO function O subroutine DO O0O00OO0OOO
dodooogoogoooboogn

c gooooooobbobbbooon

INTEGER MAX_ATOM
PARAMETER (MAX_ATOM = 5000)

000000000D0000D00010D015A00000000000000

c list UUOO0O0O ODOO0oOoOoOO0O0
INTEGER MAX_MESH_X
PARAMETER (MAX_MESH_X = 25)
INTEGER MAX_MESH_Y
PARAMETER (MAX_MESH_Y = 25)
INTEGER MAX_MESH_Z
PARAMETER (MAX_MESH_Z = 50)

goooobobbbob ooooobobobboooobooooouobobbbbobouo
godoooooooooo

INTEGER MAX_DIFF2_LIST
C PARAMETER (MAX_DIFF2_LIST = 400)
PARAMETER (MAX_DIFF2_LIST = 1)

C 000 O STRICT
C IHPLICIT LOGICAL ( A-Z )
IHPLICIT REAL*8 ( A-Z )

< Tesoff 0ODOOOOD
c ooooo ¢ ooog o

REAL*8 PRH_EA
REAL*8 PRH_EB

REAL*8 PRH_LUHBDA1
REAL*8 PRH_LUHBDA2
REAL*8 PRH_LUHBDA3

REAL*8 PRH_ALPHA
REAL*8 PRH_DELTA
REAL*8 PRH_ETA

REAL*8 PRH_A
REAL*8 PRH_C
REAL*8 PRH_D
REAL*8 PRH_H

REAL*8 PRH_CR
REAL*8 PRH_CD

PARAMETER (PRH_EA = 1393.6D0)
PARAMETER (PRH_EB = -346.74D0)

C normal
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PARAHETER (PRH_LUMBDA1
PARAMETER (PRH_LUMBDA2

C Graphite saigen
PARAHETER (PRH_LUNBDA1
PARAHETER (PRH_LUHBDA2

C C60 saigen

C
C

PARAMETER (PRH_LUMBDA2

PARAHETER

PARAHETER
PARAHETER
PARAHETER

PARAHETER
PARAHETER
PARAHETER
PARAHETER
PARAHETER

PARAHETER
PARAHETER

oodm
REAL*8 PI
PARAHETER

= 3.4879D0)
= 2.2119D0)
= 3.6012997D0)
= 2.28381399D0)
PARAMETER (PRH_LUMBDA1 = 3.6219D0)
= 2.2969D0)
(PRH_LUHBDA3 = 0.0D0)
(PRH_ALPHA = 0.0DO)
(PRH_DELTA = 0.687276D0)
(PRH_ETA = 0.72752D0)
(PRH_A = 1.5724D-T7)
(PRH_C = 38049.0D0)
(PRH_D = 4.3484)
(PRH_D = 4.384)
(PRH_H = -0.57058)
(PRH_CR = 1.95D0)
(PRH_CD = 0.15D0)
(PI = 3.14159265358979323846D0)

00O00O00o0O0O0O0O0OO0OO0OOooO0

INTEGER HAX_ATOHN
PARAHETER (MAX_ATON

= 5000)

ooboooooooooo

INTEGER HAX_ATOH3
PARAHETER (MAX_ATOH3

HAX_ATOH * 3)

list 000000 O0O0DOOOO0O0D
INTEGER HAX_HESH_X
PARAMETER (MAX_HESH_X =
INTEGER HAX_HESH_Y
PARAMETER (MAX_HESH_Y =
INTEGER HAX_HESH_Z
PARAMETER (MAX_HESH_Z =

ooboooooooooo
INTEGER HAX_HESH_ATOHN
PARAMETER (MAX_HESH_ATOH

000 1list00000
INTEGER HAX_LIST_N
PARAMETER (MAX_LIST_N =

25)

25)

50)

20)

000 1ist00000 00O
INTEGER HAX_LIST_N2
PARAMETER (MAX_LIST_N2

000 1ist200000
INTEGER HAX_LIST2_N
PARAMETER (HAX_LIST2_N
PARAMETER (MAX_LIST2_N

INTEGER HAX_DIFF2_LIST
PARAMETER (HAX_DIFF2_LIST

PARAMETER (MAX_DIFF2_LIST

INTEGER HAX_LIST_IJ
PARAMETER (MAX_LIST_IJ

HAX_LIST_N % 2)

50)

= 40)

20)

10)

400)
1)

00 0oooo0OO0O0O0o0oOoOoOoooo
INTEGER HMAX_DATA_IDX
PARAMETER (MAX_DATA_IDX

oooooo

INTEGER HESH_D
PARAMETER ( HESH_D

PARAHETER
REAL*8 EPS
PARAHETER

REAL#*8 TIH

(EPS1
2
(EPS2

E_DIV

PARAHETER (TIHE_DIV

[

[

( PRH_CR + PRM_CD ) % 1.01DO0 )

= 500000)

.000001D0)

.00001D0)

= 2.5D-15)
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Cc 2.5
REAL*8 Na
PARAHETER (Na = 6.022045D+23)

REAL*8 HassC
PARAHETER (MassC = 12.0D0 * 1.6605655D-27)

REAL*8 CONV_VELO
PARAHETER (CONV_VELO =
# 1.6021892D-19/HassC*TIHE_DIV+TIHE_DIV*1.0D+20)

REAL*8 PRH_VCR
REAL*8 PRH_VCD

PARAMETER (PRH_VCR = 2.1D0)
PARAHETER (PRH_VCD = 0.1D0)

REAL*8 PRH_VCR2
REAL*8 PRH_VCD2

PARAMETER (PRH_VCR2 = 17.5D0)
PARAMETER (PRH_VCD2 = 1.0D0)

REAL*8 HESH_D_VDW
PARAMETER ( MESH_D_VDW = ( PRH_VCR2 + PRH_VCD2 ) % 1.01D0 )

c vdw 0 list 000000 00DO0OOODO
INTEGER HAX_HESH_V_X
PARAMETER (MAX_HESH_V_X = 7)
INTEGER HAX_HESH_V_Y
PARAHETER (MAX_HESH_V_Y = 7)
INTEGER HAX_HESH_V_Z
PARAMETER (MAX_HESH_V_Z = 20)

c vdaw 000000D0O000OOO
INTEGER HAX_HESH_V_ATOH
PARAMETER (MAX_HESH_V_ATOH = 2100)

c 000 1list00000
INTEGER HAX_LIST_VN
PARAMETER (MAX_LIST_VN = 2100)

c 000 1ist00000 00O
INTEGER HMAX_LIST_VN2
PARAMETER (MAX_LIST_VN2 = HAX_LIST_VN x 2)



o0 C

U0 gdboodoodbogdbn

Joogoobouoboobooouon
00 00000000000
19990 90 0000 000000 00000

Joogoobouoboobooouon
00 00000000000
20000 10 0000000000000 018000000000000
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